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Abstract
This thesis is focused on aspect in English and Czech. This implies that it is

English aspect constructions, contrasts and relevant Czech grammar means with which I
am going to deal in detail. A reader of this paper will become familiar with the fact that
English has two aspect constructions; the perfective and the progressive. They will also
find out that there are two sets of aspectual contrasts in English, perfective/imperfective
and progressive/nonprogressive. Last but not least, it will have become clear that the
perfective and progressive aspects can be combined in the same verb phrase.

While in the English language the term aspect refers to grammatical category
that reflects the way in which the verb action is experienced with respect to time, a
reader will get to know that the term aspect (vid) in Czech is considered as an ability of
a verb to express imperfectivity or perfectivity. Subsequently, they will get to know that
'periphrastic form', 'resultative', 'iteratives', imperfective and perfective verbs illustrate
the grammar means that Czech uses to indicate the equivalents of situations expressed
by English verbs, verb phrases and constructions. To accomplish that, I used the method
of comparison.

Souhrn

Tato diplomova prace je zaméfena na vid (aspect) v anglickém a ¢eském jazyce.
To naznaCuje, ze se budu detailn¢ zabyvat anglickymi vidovymi konstrukcemi,
kontrasty a odpovidajicimi ¢eskymi gramatickymi prostiedky. Ctenai této diplomové
prace se obeznami s tim, Ze anglictina disponuje dvémi vidovymi konstrukcemi;
'perfektivni' a 'progresivni'. Stejné tak zjisti, Zze v anglickém jazyce existuji dvé skupiny
vidového  protikladu; ‘perfective/imperfective’ a  'progressive/nonprogressive'.
V neposledni fad¢ bude Ctenafi ziejmé, ze 'perfektivni' a 'progresivni' vidy se mohou v
anglickém jazyce kombinovat ve stejné slovesné frazi.

V anglickém jazyce se termin vid (aspect) vztahuje ke gramatické kategorii,
ktera odrazi zpusob jakym je ¢innost slovesa vnimana vzhledem k sémantické kategorii
Casu. Tohoto terminu je v Ceském jazyce pouzito pro schopnost slovesa vyjadiit
nedokonavost a dokonavost. Nasledné se ¢tenar dozvi, ze Cesky jazyk uziva opisnych
tvardi, 'resultativu', nasobenych sloves, ale pfedevsim sloves nedokonavych a

dokonavych jako gramatickych prostiedkli oznacujicich ekvivalenty situaci vyjadienych



anglickymi slovesy, slovesnymi frdzemi a konstrukcemi. Abych tohoto dosahl, pouzil

jsem komparativni metodu.
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A. Theoretical part

I ntroduction

Is aspect related to time of utterance, is it a comment on a particular view of an
action, does English distinguish between aspect contrasts? If so, what are they and how
do they influence functions of utterances? Does any ending mark aspect in English at
all? These questions are to indicate the main issues with which I shall be dealing in my
thesis. These questions are not going to be applied to the English language only but I am
going to try and discuss them in great detail with a view to the Czech language as well.
Nevertheless, it is the comparison of verb forms in English and their Czech counterparts
with a view to aspect that is the main aim of this paper.

First of all, I would like to introduce the reasons why I have decided to focus on
this topic in particular. Despite having had a two-year experience of teaching English, I
came to realise that a work outlining characteristics of aspect in the two languages could
be of enormous help to any of my colleagues, they still being regarded as novice
teachers and thus provide them with a comprehensive study that would help them
present and practise new characteristics of aspect better. In order to do so, I have
consulted many renowned grammar books and a lot of experienced teachers.

My paper is structured into two main parts; Theoretical part and Practical part.
In order to offer insights into the study of aspect from different perspectives, various
features of aspect both in English and Czech constitute the main criteria on the basis of
which this diploma paper is further subdivided into chapters and subchapters
respectively. Therefore perfectivity, imperfectivity, perfective and imperfective verb
forms in Czech, the grammatical category of TENSE as well as the semantic category of
TIME represent the primary criteria of this diploma paper.

In view of the given fact, the Theoretical part starts by stating which particular
grammar books and why I am going to use in this diploma paper. Nevertheless, in this
first part | am predominantly going to analyse various grammarians' opinions on aspect
in both languages. In other words, I will try and do my best to analyse their points of

view of perfective and progressive aspects of English.



After that [ am going to focus on a definition of aspect in the Czech language. In
this section I will be dealing with ways of viewing of verb actions expressed by
perfective as well as imperfective verb forms. Moreover, in the theoretical part I shall
also be concerned with the nature of tense and aspect as general linguistic categories in
the light of semantics. I shall be dealing with numerous grammar issues such as;
distinguishing between the grammatical category of TENSE and the semantic category
of TIME and comment on them, having analysed many grammarians views of that
matter.

Subsequently, I am going to discuss the argument claiming that English does not
have a grammatical aspect and focus on items in English that express 'aspectual
meaning'. However, it is lexical items, which English uses to express aspectual meaning
with a view to the semantic category of TIME, and their Czech counterparts on which
the other section of the theoretical part is based. That is why I shall make, for example,
a detailed inquiry into the relationship between the English perfect tenses and the Czech
perfective aspect to discover a degree of correspondence.

Moreover, I am also going to deal with the primary uses of tenses in English,
trying to shed light on situations they can cover. For instance, a reader of this paper will
have learned that actions in English can be classified as either static (states of affairs,
relations etc.) or dynamic (actions, processes, events etc.) and how such actions can be
viewed.

Throughout the theoretical part I shall be providing numerous examples when
language means expressing aspect in the two languages correspond to each other and
when do not. These examples will be regarded as a basis for a research based on the
Theoretical part of this paper. In view of the given facts, the main goal of the Practical
part of this thesis will be revealing whether or not pupils are capable of distinguishing
between progressive and perfective aspects in English and finding their corresponding
counterparts in Czech.

Even though this paper will contain mainly theoretical information, I shall also
present my opinion and comment on some grammarians' suggestions to show my

interest in the topic.
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Review of literature

Theoretical grammar books, a number of practical grammar books, textbooks
comprising theory as well as practice constitute the main sources of information of this
diploma paper. Owing to the fact that I shall be dealing with aspect not only in English
but also in Czech a reader will be provided with a lot quotations by English and Czech
authors who have done a painstaking research in this field before.

Aspect, Studies in the English language, A Grammar of Contemporary English,
A Comprehensive Grammar of the English Language, A Communicative Grammar of
English and A University Grammar of English belong among the main titles that are
crucial for this paper from the English language point of view. They function not only
as an introduction to the study of verbal aspect but also other related problems.

This is especially true of a book entitled 'Aspect' by Bernard Comrie. This book
presents aspect as a part of general theory and does not presuppose any previous
knowledge of aspect. Theoretical points are illustrated throughout with examples from
various languages including Czech. Any reader will definitely appreciate a brief outline
of the book. The core of the book is formed by chapters entitled 'Perfective and
Imperfective ' and 'Aspect and Tense'. The first of these chapters discusses in greater
detail the distinctions between perfective and imperfective.

This chapter then goes on to discuss various subdivisions of imperfectivity, in
particular habituality, continuousness and progressiveness. Moreover, it is the chapter
'Aspect and Tense' that investigates the interaction of aspect and tense and thus it is of
the utmost importance to this paper.

There are, nevertheless, many other English authors whose studies of grammar
have helped me understand a course of grammar points easily. Greenbaum S., Geoffrey

L., Parrott M., Huddleston R. and many others constitute only a fraction of the



grammarians focusing on features of aspect in English. A University Grammar of
English, Introduction to the Grammar of English, Grammar for English Language
Teachers as well as A comprehensive Grammar of the English Language are the titles
that I regard as the basis of my sources as they discuss features of aspect such as;

progressive aspect, perfective aspect, aspect and tense etc in great detail.

il

Apart from the English authors of the titles mentioned above, it is professor
LibuSe Duskova whose work has helped me enormously to broaden my views in terms
of English an Czech Grammar. A grammar of contemporary English against the
background of Czech (Mluvnice souc¢asné anglictiny na pozadi CeStiny), and Studies in
the English Language are publications that I have considered essential. The first book
offers only a brief insight into the question of aspect in English. However, it provides its
readers with possible Czech equivalents.

In Studies in the English Languages I DuSkovd combines theoretical and
practical perspectives on grammar and thus this enables her readers to perceive
grammar as a whole. It is a section called ' The Perfect Tenses in English vs. the
Perfective Aspect in Czech' that undoubtedly plays an important role in comparing
aspects in English and Czech. However, Duskova confines herself in this publication to
the examination of the relationship between The English simple perfect and simple
pluperfect, and the past tense of Czech perfective verbs.

A grammar book entitled 'Slovesny vid v ¢esting' by FrantiSek Kopec¢ny fulfils
any expectations of a reader studying Aspect in depth. It is structured into five chapters,
each of them dealing with one feature of Aspect in great detail. That is why I have
considered this book as one of the main sources of information. Dokonavost,
Nedokonavost, Nasobenost, Prézens sloves nedokonavych, Prézens sloves dokonavych
and Préteritum are examples of subchapters I find crucial as far as features of Aspect in

Czech are concerned.
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1. Definition of aspect in the English language

As mentioned above, in this chapter I am going to discuss various grammarians'
points of view of aspect. "The term ' aspect' refers to a grammatical category that reflects
the way in which the verb action is regarded or experienced with respect to time." (Quirk,
Greenbaum and others 1996, 188) Huddleston adds that the terminological distinction
between tense and time has no well-established analogue in the domain of aspect and that
the one term 'aspect' is widely used both for a grammatical category of the verb and for the
type of meaning characteristically expressed by that category. In order to avoid possible
confusion, Huddleston draws attention to 'grammatical aspect' on the one hand and '
semantic aspect' or ' aspectual meaning' on the other.

Furthermore, aspect is not concerned with relating the time of the situation to any
other time-point, but rather with the internal temporal constituency of the situation. 'One
could state the difference as one between situation-internal time (aspect) and situation -
external time (tense). (Comrie 1976, 5)

For example, a sequence of forms with perfective meaning like, 'the wind tore off
the roof, snapped the clothesline, and brought down the apple-tree, would normally be
taken to indicate a sequence of events. Comrie claims that each of the three situations is
presented without regard to its internal constituency and arrives at a conclusion that a
natural interpretation is to take them as events that occurred in succession, each one
complete in itself; moreover, they will normally be taken to have occurred in the order in
which they are presented in the text.

However, this is by no means a necessary interpretation. It is quite possible, even if
unlikely, for all three events to have been simultaneous or that the speaker is not interested
in the relative order of the three events. ' The wind simultaneously...'adverbial would have
to be added to the sentence in the first case unlike in the other interpretation, in which case
the speaker is simply registering his observation of the overall result of the wind's damage.

Moreover, Huddleston implies that English does not have grammatical aspect and
claims that a language has grammatical aspect if it has a system of verbs, marked
inflectionally. He also deals in his studies with aspectual verbs, i.e. verbs with aspectual

meaning although they do not form a grammatically distinct class and are not dependents of



the verbs with which they enter into construction. It is owing to the fact that English does
not have aspectual inflections. As far as English is concerned, "aspectual meanings are
expressed by various 'lexical’ items rather than expressed by inflections." (Svartik 1985, 74)

Nonetheless, it is of the utmost importance to know that English has two sets of
aspectual contrasts: perfective/imperfective and progressive/non-progressive. The
progressive aspect marked by -ing indicates that the event is regarded as still in progress.
The perfective aspect is marked by -en and, in its broadest possible interpretation, signifies
anterior time. This implies that the event has occurred in the period up to a given time -for

the present perfect it is 'before now'.

1.1  Perfective aspect
As mentioned in the previous section, the two aspect constructions of English, the

perfective and the progressive, can be seen as realising a basic contrast of aspect between
the action viewed as complete (perfective) and the action viewed as incomplete, i.e. in
progress (imperfective or progressive). Nevertheless, it is Quirk who asserts that it is an
oversimplified view as these two aspects may combine within a single verb phrase (e.g. /
have been reading is both perfective and progressive).

In discussions of the perfective aspect, one should also note that a very frequent
interpretation of Perfectivity is that it indicates a completed action. However, the terms
'completed ' and 'complete' do not mean the same. Despite the formal similarity between the
two words, there is an important semantic distinction.

The perfective does denote a complete action, with beginning, middle, and end. The
use of 'completed', however, puts too much emphasis on the termination of the situation,
whereas the use of the perfective puts no more emphasis on the end of the situation than on
any other part of the situation, rather all parts of the situation are presented as a single
whole.' (Comrie;Aspect: 18)

In its broadest possible interpretations, according to Leech, the perfective indicates
ANTERIOR TIME; i.e. time proceeding whatever time orientation is signalled by tense or

by other elements of the sentence or its context. Here are a few sentences to illustrate this:



I have already met your sister.

The flight was cancelled after we had paid for the tickets.
By next week, they will have completed their contract.

I am/was sorry to have missed the concert.

She regrets/regretted having abandoned the plan.

T? T= time of orientation

>

|

Addopted from: Greenbaum 1985, 190

Anterior time zone

As the above figure shows, the perfective merely defines an anterior time zone
(symbolised by the arrow) within which the action of the verb takes place. Leech also
claims that the time of orientation is not fixed: with the present perfective (1), T? is equated
with T1, while with the past perfective , T? is equated with T2 ( a specifiable secondary
time of orientation in the past). T?(=T2) refers to the time of cancellation of the flight. In
(3) the infinitive perfective occurs after a modal auxiliary, and the time orientation derives
not from the infinitive itself (which is tenseness), but from the modal. In the last two
examples, the perfective occurs in a non-finite verb phrase, which, because it has no time
orientation, takes its orientation from the main verb.

1.2 Perfectivity and imperfectivity

When dealing with aspect, a distinction between perfectivity and imperfectivity
must be clear from the very beginning. 'Perfectivity’ indicates the view of a situation as a
whole, without distinction of various separate phrases that make up the situation; while
imperfective pays attention to the internal structure of the situation. (Comrie 1976, 16)
Consequently, it is possible to use perfective forms to refer to situations that have an
internal structure e.g. (I stood there for an hour) and thus it clearly follows that imperfective
forms cannot be used to refer to situations lacking internal structure (John was working

there).



In discussing perfectivity and imperfectivity, it is often claimed that perfective forms
indicate situations of short duration, while imperfective forms indicate situations of long
duration. Thus the interpretation of a sentence like "He reigned for thirty year" indicates
gathering the whole period of thirty years into a single complete whole. Finally it must be
also considered that "the general area of imperfectivity must be subdivided into two
concepts of habituality and  continuousness, it being sometimes referred to as
'durativity' as well." (Comrie 1976, 26)

Perhaps the most obvious semantic difference between perfect and non-perfect in a
contrasting pair like

John has been ill. (a)

John is 1ll. (b)
is that the situation (a) of John's being ill is located in past time and in (b) in present time.
The essential difference between the perfect and the past tense is that the perfect locates the
situation within a period of time beginning in the past and extending forward to include the
present, whereas the past tense is used where the time of the situation is identified as
wholly in the past, as a past that excludes the present.

It is crucial to consider that " the choice between a perfect and a past tense, between
an inclusive and exclusive past, is generally not determined by the actual temporal location
of the situation, but depends on the speaker's subjunctive conception of it." (Huddleston
1993, 159) As a result I could say now;

I broke my leg on a climbing expedition.

I have broken my leg on a climbing expedition.

However, it is not the time of the event that differs but the speaker's perspective,
their considering it as it being over or, on the other hand, as a present result of a past

activity-my leg is still broken.
1.3 Progressive aspect

As its name suggests, the progressive aspect (also sometimes called the
DURATIVE or CONTINUOUS aspect) indicates a happening at a given time and

according to Svartik Progressive aspect also indicates temporariness. To illustrate these



facts clearly as well as explicitly enough, here is a pair of sentences to support these
assertions:

SIMPLE PRESENT: Joan sings well. (1)

PRESENT PROGRESSIVE: Joan is singing well. (2)

The two sentences have the same tense but different aspects. Joan sings well refers
to Joan's competence to sing as a singer (that she has a good voice- a permanent attribute);
Joan is singing well refers to her performance on a particular occasion or during a
particular season. The same contrast could be made for the past tense;

SIMPLE PAST: Joan sang well. 3)

PAST PROGRESSIVE: Joan was singing well. 4)

But in this case the semantic contrast is different as the simple past makes us see the
event as a whole, while the past progressive makes us see it as an activity in progress. In
other words, Joan's singing in (2) expresses TEMPORARINESS unlike in (4), in which
case it refers to the event as enduring over a period of time. Moreover, Huddleston comes
to realise that:" Progressive aspect is conceived of having a more or less 'dynamic'
character, as opposed to being wholly 'static'." (Huddleston 1993, 153) Consequently, the
situation is viewed as having at least the potential for continuation and not only as a
temporal one.

Huddleston also concludes that the non-progressive presents the situation as in
progress and hence the situation may be either static or dynamic. If we consider, for
example, the following sentences,

It was raining. (a)

It rained. (b)
it clearly follows that the verb rain denotes a dynamic situation and that the situation is in
progress at the time referred to e.g. ("I opened the curtains and I saw that it was raining.")
(b) example, on the other hand, entails that the situation is perceived as a whole-as an
event.

Huddleston also points out that where the situation has an inherent completion
point, then the progressive indicates incompleteness at the time in question, while the non-

progressive indicates completeness. For example:



Kim is /iving in Berlin. (a)

Kim /ives in Berlin. (b)

The (a) example implies a situation of limited duration, something relatively
temporary, whereas (b) suggests a longer, indefinite duration. In other words, living
somewhere is basically static rather than dynamic. That is why the aspect for /ives in Berlin
is accordingly the non-progressive.

Furthermore, it is Bernard Comrie who claims that numerous definitions of
progressiveness often fail to bring out the difference between "progressiveness" and
"imperfectivity" as a whole. For this reason he concludes that a grammatical category
"imperfectivity" is divided into concepts of habituality and continuousness. Imperfectivity
includes a special case of habituality, in which case a situation can be viewed as habitual
without its being viewed as progressive, as with non-Progressive Habitual (John used to
write poems) unlike the Progressive (John used to be writing poems).

In the sentence (John used to be writing poems) progressiveness is not incompatible
with habituality. That is why the given situation can be viewed both as habitual, and as
progressive. "Each individual occurrence of the situation is presented as being habitual (the
habitual of a progressive)." (Comrie 1976, 33)

Finally, Greenbaum together with Quirk imply that:" progressive forms are more
frequent in conversation than in scientific discourse; also that they are marginally more
frequent in conversational AmE than in conversational BrE." (Geenbaum 1985, 198)

2. Definition of aspect in the Czech language

Many Czech grammarians deal with aspect in the Czech language in great detail.
Nevertheless, in this section I shall be focusing on how they view its main features only.
They claim that aspect is mostly dealt with as a morphological category as well as it refers
to another morphological category of tense and that aspect influences a category of time
respectively.

It is crucial to bear in mind that aspect (vid) of the Czech language also refers to a
grammatical category that reflects the way in which the verb action is experienced or
regarded with respect to time. That is to say that it is possible to express the same action

differently based on aspect. "Aspect (vid) is considered as an ability of a verb to express



'imperfectivity' or 'perfectivity’, including 'nendsobenost' and ndsobenost-iteritavnost' of an
action." (Cechova 1996, 155)

Cechova, furthermore, attaches importance to the fact that we may also consider
aspect as a lexical category since there are certain verbs that are different both from the
aspectual and semantical points of view. To indicate those semantic differences Czech
verbs take affixes, they being subdivided into suffixes and prefixes.

She also states that the main distinction between aspect constructions of Czech, the
perfective aspect (vid dokonavy) and the imperfective aspect (vid nedokonavy) can be
perceived as a contrast between duration and complexity-in its completion. To do so, Czech
uses imperfective verbs to express duration of an action unlike perfective verbs. These
verbs denote a complete action. Cechova, however, concludes that a misinterpretation is
very likely to occur should a speaker confuse every past verb form for a perfective verb
form.

Regarding aspect and tense as the same grammatical category in Czech is
impossible either. It is owing to the fact that verb forms in the past do not denote a
completion of an action. Imperfective verb forms can be seen as indicating duration of an
action and therefore do not denote its completion. An example could be given like this:

David cet/ knihu.

Based on the given example it remains to be unclear whether or not he has finished
reading of that book. It is only clear that the reading was in progress in the past. Nor do we
know if it is still going on at present.

On the other hand, a perfective verb (dokonavé sloveso) focuses on 'complexity’ of
an action expressed by the verb. This "complexity", according to Cechové, entails that much
emphasis is put on the termination of the situation. For instance:

David precet! knihu.

Based on the above assertion, it shall have been clear that the activity is already over.
2.1 Perfective/Imperfective verbs-distinction

According to the authors of Piriéni Mluvnice Cestiny, aspect is expressed by a verb
possessing three verb forms, all of them having the same lexical meaning. We can

distinguish these verb 'forms' with a view to the termination of an action. In this respect,



only two types of verbs reflect that fact; perfective verbs (slovesa dokonava-perfektivni)
and imperfective verbs (nedokonava slovesa-imperfektivni).

Perfective verbs in Czech indicate that an action has been completed (napsal jsem
dopis) or it shall be completed (e.g. napisu dopis). Moreover, "it is an ability of
imperfective verbs to express topical present (aktudlni pfitomnost) only unlike perfective
verbs. These verbs lack this ability, so perfectivity 'excludes' presentce. Havranek and
Jedlicka point out that "perfective verbs cannot express 'real' present as their forms already
denote future (e.g. vyrobi, napise)." (Havranek,Jedlicka 1988, 225)

Consequently, "perfective verbs do exist in 'préteritum' (past) and 'futuru' (future)."

(Kolektiv autorti Ustavu Ceského Jazyka 1995, 318) See the following examples:

TIME/ASPECT PAST PRESENCE FUTURE
PERFECTIVE napsal jsem napisu
IMPERFECTIVE  psal jsem pisSu budu psat

Formation of perfective verbs is of the utmost importance too. That is why
Havranek and Jedlicka draw their attention to the fact that: "There are verbs in Czech
formed by derivation from imperfective verbs. These verbs take prefixes as in the following
examples (najde, pfinese, pfijde, ubere, vydéla, vzdéla, sepise, vyleze)." ( Havranek,
Jedlicka 1988, 225)

Imperfective verbs do express present. They do so by means of verbs in the present
tense and thus they express present, past as well as future (vyrabéji-vyrabéli-budou
vyraber). To express future, a compound verb form must be used, consisting of two words-
infinitive and 'budu,budes' verb forms as already mentioned e.g.(budu psat).

Jedlicka as well as Havranek imply that imperfective verbs are very often underived
verbs-'prosta' slovesa such as (nese, bere, pise, d¢la, leze, jde). Most of them, however, are
derived from perfective verbs, either 'prostych or 'pfedponovych'-those taking prefixes
(e.g. Fika-rekne, skdce-skoci, hazi-hodi, kupuje-koupi, dava-da, vyrdabi-vyrobi, rozviji-
rozvine).

"Imperfective verbs in Czech are described as verbs that do not lay much

importance on termination of an action, they enable to express an internal structure of an



action and have a more general validity unlike perfective verbs." (Kolektiv autorti Ustavu
Ceského jazyka 1995, 318)

It is as well possible to utilise these verbs in such situations where an action is over-
completed and the focus of communication falls on other lexical items like; agent, place
and other circumstances. Examples might be given like this:

Ten obraz maloval Dan Slosar.
Kde odlévali ten zvon?
Branku daval Knoflicek.

Kopecny, moreover, adds that imperfective verbs denote an action in progress ('
kurzivni' action), but whether or not this action was or will be completed is not in question
this time. It is the whole context that influences it and relevant context means would have
to be included to illustrate it as in the following examples:

On to sice delal, ale nikdy to nedodélal a nedodela.
On to mozna bude délat, ale nikdy s tim nebude hotov.

"Imperfective verbs themselves cannot indicate imperfectivity own their own. On
the contrary, perfective verbs clearly indicate a completion (dokonceni) or termination
(ukonceni)." (Kolektiv autor 1995, 10)

2.2 Aspectual contrast

It must be clear that two or even three forms of a verb occur in the Czech language
very frequently. It is not their lexical meaning on which basis they differ form one another,
but aspect e.g.(dat-davat-dadvavat). 'Dat' verb is perfective unlike 'davat' or 'davavat'.
Nevertheless, there is a big difference in meaning between them: 'davéavat' denotes
frequency and repetition-'frekventativum'. The action is not topical either (e.g. "Vim, Ze mu
davaval néjakeé penize").

According to Kopecny aspectual contrast is related to a meaning of a verb.
Particularly it is associated with the difference between states and simple actions on the one
hand and with events (muta¢nimi d¢€ji) on the other. These events focus on a specific result.

Subsequently, Havranek and Jedlicka conclude that the difference between a
perfective and an imperfective verb of an ‘'aspectual pair' is that the perfective verb

expresses that a result has been achieved e.g. (Vystoupil z vozu. Dal mi korunu. Zavrel



dvere). On the contrary, imperfective verbs express direction 'sméfovani' towards the result.
Nor do they express completion. As a result, it is possible for imperfective verbs to express
an event whose result has not been achieved at all (e.g. Ddval jsem mu stokurunu, ale on
odmitl).

2.3 'Impair verbs'

Cechova also states that certain verbs in Czech lack the ability to express aspectual
contrast. It is owing to the fact that aspectual contrast is not realised with all verbs and
hereby these verbs are called "impair" verbs. This fact applies especially to modal verbs
and verbs referring to states-stative verbs e.g.( moci, chtit, smét, muset, mit, umét, vedet,
znat, spat, bydlet...)." Havranek and Jedlicka claim as well that "stative verbs such as;
sedet, lezet, stat, smét, muset etc. and verbs denoting simple actions such as; pracovat, jit,
cekat, svitit do not express aspectual contrast." (Academia 1986, 181)

Furthermore, it must be taken into account that: "Not only modal verbs but also
stative verbs are regarded as imperfective verbs, so they lack their aspectual counterpart."
(Cechova 1996, 156) On the other hand, there are comparatively fewer verbs in Czech,
perfective ones, which do not have imperfetive counterparts e.g.(nadchne, priméje).

Again, it is the meaning of verbs that plays an indispensable role because one
meaning of a verb can indicate an 'impair' verb and the other a 'pair' verb. For instance;
vymrit does not correspond to mr7it, but vymirat, as far as aspectual pair is concerned.
Similarly the same is true with pobit-bit-pobijet. As regards 'impair' verbs there are two
terms denoting them in Czech;

a) imperfektiva tantum' e.g.(sedet, lezet, videt, vypadat, milovat, moci, smét, mit etc.)
b) 'perfectiva tantum' e.g. ( dovézt dokdzat, vydrzet, naplakat se, ubéhat se, nasekat, uvidet,
uslyset, rozprset se, zakricet etc.)

According to Havranek and Jedlicka the term 'imperfectiva tantum' applies to not-
topical 'multiplied’ verbs-'neaktudlni slovesa ndsobend' for example; delavat, chodivat.
""Multiplied' not-topical verbs cannot take suffixes as a result of which they cannot be made
perfective. Stative verbs or verbs describing a simple process are used instead to refer to

imperfective ones." (Havranek, Jedlicka 1988, 183)

10



2.4  'Pair verbs'

In discussions of aspectual contrast, it is inevitable to lay importance on 'pair verbs'
too and their formation inclusive. For this reason it is the means of formation of
imperfective and perfective verbs with which I am going to deal in this chapter.

According to Havranek and Jedli¢ka "an 'aspectual pair' can be defined as a pair of
verbs that are different form the aspectual point of view but their lexical meaning remains
the same." (Havranek, Jedlicka 1988, 181) They also add that aspectual pairs are formed by
means of morphological means and thus they refer to two types of them; (a), (b).

a) dat-davat, vypsat-vypisovat

b) varit-uvarit, psat-napsat

The first type of an aspectual pair is based on a perfective verb and an imperfective
verb, which is formed by taking a suffix as in (a). On the other hand, it is an imperfective
verb that is the base of the b) pair. The verb takes a prefix to make it perfective.

As has already been mentioned, taking prefixes is the most frequent way of forming
perfective verbs from imperfective such as zpiva-zazpiva, piSe-napise, vidi-uvidi, uci se-
nauci se. Perfective verbs, moreover, are also those not taking any prefixes at all (e.g.
rekne, sedne, skoci, koupi, da).

Imperfective verbs are often underived simple verbs such as nese, bere, pise, deéla,
leze, jde. However Havranek and Jedlicka claim that imperfective verbs are mostly formed
by derivation form perfective verbs, taking a suffix. Perfective verbs are either simple verbs

or prefixed verbs (pfedponova slovesa).

For example; perfective verbs imperfective verbs
Rekne fika
Hodi hazi
Da dava
Rozvine rozviji

On the other hand, perfective verbs are formed by derivation as well. As a rule
imperfective verbs take a prefix to form perfective ones such as prinese, pride, najde,
ubere, vydela, vzdela etc. Taking a prefix results not only in a change of aspect in that the

imperfective aspect shifts to perfective, but also in the meaning of a verb (e.g. najde,
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nalezne, vzdeéla). According to Havranek the meaning of a verb might change completely
due to the shift of aspect (a) or the meaning might be slightly modified as in (b);

a) najde, nalezne, vzdéla

b) pfinese, sepise

"Taking a prefix entails a change of meaning with 'simple' perfective verbs
accordingly." (Havranek, Jedli¢ka; Ceska Mluvnice: 225) This fact might be illustrated in
the following examples; usedne, vyskoci, nakoupi, vyda, ziekne se. Consequently, it is vital
to realise that adding a prefix to an imperfective verb entails forming a new perfective verb
and not just a perfective counterpart of an imperfective verb (i.e. prinese-nese).

Moreover, there are still regular pairs of verbs in Czech consisting of perfective and
imperfective verbs. These pairs of verbs have the same meaning as well as root. That is
why Havranek and Jedlicka refer to this aspect as to ' grammatical aspect' and point out that

there are two types as far as a verb form is concerned. As illustrated in the following

examples:
simple imperfective verb prefixed perfective verb
vidi uvidi
uci se nauci se
simple perfective verb imperfective verb derived by suffix
fekne fika
da dava
prefixed perfective verb imperfective verb derived by suffix
vyhodi vyhazuje
poda podava
simple imperfective verb prefixed perfective verb imperfective verb
derived by suffix
nese pfinese prinasi
jde najde nachazi
dela dod¢la dod¢lava
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Finally Havranek and Jedlicka state that there is a possibility of there being another
regular verb pair from the aspectual point of view. They are called 'supletivni dvojice' and

denote imperfective and perfective verbs of the same meaning but of a different root.

Perfective verb imperfective verb
vezme bere

polozi klade

vyjde vychazi

2.5 2nd aspectual contrast (a contrast of a not-topical repetition against
simple imperfectivity)

In this chapter I shall be dealing with two features of aspect that must be considered
as far as aspectual contrast is concerned. "The first of these features indicates 'intopicality-
neaktualnost' and it is morphologically based." (Kope¢ny 1962, 15) The other expresses
repetition. There is, however, another aspectual form e.g. délavam, nosivam that comprises
both of the features together.

The first semantic feature of forms of verbs like delavdm is that they are defined
negatively. This means that they are not-topical. On the other hand, a term fopicality entails
our focusing on duration of a current action at the moment of speaking. Furthermore,
Kopecny implies that we can view topical presence as an answer to a question such as;
"What are you doing here?"

He also concludes that topicality applies not only to the presence but also to future
and past. As a result, only imperfective verb forms can be used to express 'topicality'.
Despite the fact that Czech does not possess any topical verb form from the point of view
of 'indication' (slovesnou formu piiznakové aktualni), it has a not-topical verb form as the
following examples illustrate: psavam, hravam, chodivam. In addition, Havranek and
Jedlicka claim that Present in Czech also denotes non-topical Present, so called 'uzualni'
(e.g. "Prednasim v Bratislave"). This mans that I give lectures there on a regular basis.

Nevertheless, we must bear in mind that verb forms such as délam and udélam
differ from the point of view of TIME. The same is true of déldm and delavam as délavam

cannot express topical presence.
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2.6  'Multiplicity-iterativity'

As it was already mentioned, 2nd aspectual contrast in Czech deals with verbs
indicating 'ndsobenost.' Czech grammarians use a term 'iterativa' to denote such verb forms.
For example Marie Cechova refers to two subcategories of aspect regarding 'multiplicity' as
to; 'nenasobenost' and 'nasobenost' to express an action happening either once or repeatedly.

'Iterativnost-nasobenost' in Czech entails a multiplied action. According to Kolektiv
autortt Masarykovy university, imperfective verbs take either a suffix -v- or-dv-in such
situations. For example: a) vidavat, strouhavat, volavat-kupovat,mazat

b) hubovavat, tancovavat, bojovdavat-kupovat

¢) tvrdivat, troubivat, snivat-prosit

d) pasavat, citavat-nést
The above 'bolted' verbs signal patterns on which basis 'iterativa-nasobenend slovesa' are
derived from imperfective verbs (e.g. Citaval jsem tuto knizku rad).

According to Havranek and Jedlicka masobena slovesa' are sometime regarded only
as imperfective verbs. Nonetheless, Cechova impugns that by claiming that 'nasobenost'
concerns perfective verbs too. She supports her assertion by saying that "some 'iterativa' are
perfective verbs and hence 'médsobenost' and perfectivity do not exclude each other."
(Cechova 1996, 158)

'Distributivnost' is another frequently used linguistic term regarding 'nasobenosti'
and thus aspect as well. It stands for " a gradual course of identical actions affecting a lot of
similar objects." (Kolektiv autorti 1995, 212) It is- po-,-poz-,-z- prefixes which are used to
demonstrate 'distributivnost' in Czech.

For example: a) -po-prefix: pobit, pokacet, posbirat, poskldadat, pozairat, poztracet

( Pootevrel dvere)
b)-poz-prefix: pozotvirat, pozutinat (Pozaviral okna)
c)-z-prefix: zcestovat, zlibat, zprehazet, zpretrat
It can be seen that only imperfective verbs take the prefixes; po-, poz-, and z-.
'Iterativa’ (nasobena slovesa), they being derived not only from imperfective but

also from perfective verbs, denote an action occurring several times. It must be also
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considered that even initially 'menasobend slovesa', as in (a) example, can express a
'multiplied' action as in the following example:
(a) Ted mi vracis knihu? (b) Vracim ti ji vidy hned, jakmile ji doctu."

On the one hand, the verb vracet indicates a single action as in the first example. On
the other hand, the same verb denotes a 'multiplied' action, including time adverbials such
as ted, vzdy.

As has already been mentioned, Kopeény agrees with Cechova that 'nasobenost'
includes indication 'pfiznakovost'. That is why he refers to certain groups of verbs as to
'ptiznakové nasobené' (e.g. nosiva-nosi-vynosi). Only the first group of verbs including
nosiva is not-topical. He states as well that "there are three types of verbs: a), b) and c) as
far as grammatical perception of aspect is concerned." (Kopecny; Slovesny vid v Cestin¢:
19)

a) simple imperfective verb forms without any indication of 'nasobenosti' or
perfectivity (e.g. piSe, déla, plati, hazi)

b) corresponding perfective verbs (i.e. napise, udéla, zaplati, hodi), including not-
topical ones such as nadéla se, unese to

c) imperfective verbs influenced by the indication of 'nasobenosti' and
'neaktudlnosti', e.g. psdva, delava, haziva. These verbs indicate habits.

Havranek and Jedlicka also claim that both types of verbs, imperfective and
perfective, posses the ability to express an action occurring once only-nendsobenost'.
Imperfective verbs, though, express: a) duration (jdu domii, nesu ti knihu) or b) beginning
of a feature (modrat, bohatnout). Perfective verbs, on the other hand, express: a)
instataneous action (bodl se nozem, sekne sekerou) or b) beginning and completion of an
action (rozbehl se).

'Ingresivni_slovesa’, according to Cechové, indicate a change of state (zestdrl,

omladl) or focus on a termination of an action (dobehl). These verbs also include verbs
indicating the end of an action called finitivni' and those referring to an action as a whole
(probehl se). Finally she concludes that even imperfective verbs can be used to express an
initial and a final phase of an action, not emphasising the very end of the expressed phase.

The following examples are to illustrate the fact: rozbihal se-rozbiha se, dobihal-dobiha.
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3. Tense and Aspect

As I have already mentioned at the outset of this paper, I am going to focus not only
on aspect itself but also on tense and time respectively. That is why it shall be the semantics
of the tense inflections as well as the nature of tense and aspect with which I am going to be
concerned in following chapters.

To make the distinction between tense and time clear, several points must be
considered. It would be wrong-headed, for example, to define the past and present tenses in
English as forms used to express past and present time. Huddleston, for instance, concludes
that these forms are then labelled with the general terms past and present tense on the basis
of their primary use. "Tense thus involves the grammaticalisation of time relations."
(Huddleston 1990, 73)

It will have been clear by now that the terminological distinction between tense and
time has no well-established analogue as far as aspect is concerned. The one term 'aspect' is
used both for a grammatical category of the verb and for the type of meaning expressed by
that category. Comrie also states that English does not have aspectual inflections and that is
why we refer to aspectual verbs in such a case instead.

This implies then that aspectual meanings are expressed by various lexical items.
Nevertheless, there are a number of items in English that express aspectual meanings.
Huddleston, for example, points out that the majority are catenative verbs: a) begin, b) stop,
commence, c) keep, cease, finish, continue, keep, be, have, start.

He began looking/to look for it.

She stopped talking to me.

They kept interrupting me.

Another lexical items to express aspectual meaning in English are the adjective about
and a few idioms (e.g. carry on, keep on, be going). The following sentences support these
statements:

The plane is about to land.

It's going to rain.
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Nonetheless, it is going to be differences between aspectual contrasts in English and
comparing them with corresponding Czech language means in each case with which I shall
be primarily concerned in this section of my paper.

For example: a) I do aerobics.

b) I am doing my homework.
4. Present

The primary use of the present tense is to locate the situation in present time-where
'situation’' is to be understood as a general term covering states, actions as well as processes.
Present time is the time of the utterance. Situations can be classified as either static (states
of affairs, relations, etc.) or dynamic (actions, processes, events, etc.).

For example: present time situations

a) Tom /ives in Berlin.

b) John plays defensively forward.

Static situations are understood to extend beyond the moment of utterance as in a)
example. Dynamic situations, by contrast, are understood to be simultaneous with the
utterance: b), for example, might be used in a running commentary on a cricket match. It is
Huddleston, for instance, who claims that this sort of situation can be interpreted in two
ways. Firstly as involving either a single instance of playing forward or else repeated,
habitual instances (e.g. in response to What do they do when they get a good length ball?)

In the fist instance interpretation we have a dynamic situation, whereas repeatedly
playing defensively forward is to be understood as a static situation. In this case a static
situation denotes either a repeated or habitual behaviour. Again this state of affairs extends
beyond the time of utterance.

4.1 State Present

With stative verb senses, the present is used without reference to specific time. The
STATE PRESENT includes general timeless statements, or so-called 'eternal truth'.

For example: a) Honesty is the best policy.

b) Water consists of hydrogen and oxygen.
¢) Two and three make five.

d) The earth moves round the sun.
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Whereas proverbial, scientific, or mathematical statements like these represent the
extreme of temporal universality, geographical statements are equally likely to be examples
of 'timeless present'. Verbs in all the above examples are imperfetive, expressing non-
Progressive Present. The verb 'be' might be treated sometimes as static or nonstatic,
depending on the particular meaning of a sentence. In the a) sentence it is static. The verb
'consist' is viewed as static too as it expresses a state of being.

Czech interpretations would involve imperfective verbs;-byz,e.g. a) je, ¢) jsou). In
the b) and d) examples, b) sklada se and d) obiha), we refer to not-topical presence,

expressed by means of simple imperfective verbs.
4.2  Habitual Present

"When they are used with the simple present, dynamic verb meanings, like stative
verb_meanings, usually imply an inherently time span." (Greenbaum 1985, 179) But in this
case a verb refers to a whole sequence of events, repeated over the period in question.

For example: a) We go to Brussels every year. c) Bill drinks heavily.

b) She makes her own dresses. d) Water boils at 100°C.

As the last example shows, the HABITUAL PRESENT also resembles the state
present in being used for 'timeless' statements. Moreover, a thought must be given to the
fact that verbs of stative meaning may sometimes be used in a habitual sense when
accompanied by a frequency adverbial (e.g. She is seldom alone).

It clearly follows from the above examples that the non-Progressive Present of
nonstative verbs refers to habits. Verbs used in habitual situations thus carry an
imperfective meaning. Czech equivalents expressing habitual present are; a) Jezdime do
Bruselu kazdy rok. b)Sije si vlastni $aty. ¢) Bill hodné pije. d) Voda se va#i pti 100°C. They
being not-topical, all of the verbs in Czech carry an imperfective meaning too. It is simple
imperfective verbs that indicate imperfectivity in these situations. Moreover, the verb
"Jjezdime' belongs to the group of verbs called 'iterativa' or 'iteratives' respectively.

4.3 'Instantaneous present’

The 'instantaneous present' is also used with dynamic verb senses like the

habitual present. "The instantaneous present, on the other hand, refers to a single event at
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the moment of speaking; a) in commentaries, b) instructions, c¢) demonstrations."
(Kubrychtova 1995, 16)

For example: a) Belcker serves to Sampras. b) First you weigh the ingredients. c) I
pick up the fruit with a skewer, dip it into the butter, and lower it into the hot fat. The
instantaneous present occurs where the verb refers to a single action begun and completed
approximately at the moment of speech and henceforth the verb forms then are considered
imperfective, expressing non-Progressive Present. Comrie points out that "the non-
Progressive is favoured where a rapid series of events has to be commented on as they are
happening." (Comrie 1976, 77) The above examples just confirm this assertion.

Czech counterparts are signalled either by an imperfective or a perfective verb. The
corresponding verbs in Czech are as follow: a) podava (serviruje), b) zvazime c) seberu,
ponoiim, 'dam do'. The first indicates an imperfective verb derived by prefix unlike the
others; b) and c) verbs indicate prefixed perfective verbs apart from 'ddm do', it being a
simple perfective verb expressing direction (sméfovani). In the b) interpretation 'Nejdiive
zvazime vSechny piisady ' the verb action expressed by 'zvazime' focuses on its

termination.

now

State present
EEEEENEEENI

Habitual present

Adopted from: Greenbaum 1985, 180

Instantaneous present

Unlike the 'Instantaneous present' the historic present describes Past as if it is

happening now. In other words, it conveys something of the dramatic immediacy. He

claims that "events clearly placed in absolute past time by the adverbials may be rendered

particularly lively by the use of the present tense-so called 'historic present." (Preisler
1997, 99)
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For example: Yesterday I'm in the supermarket when this woman comes up to me
and accuses me of stealing her purse. This feature occurs only in spoken narrative, often of
personal experience. The verbs are thus classified as non-progressive imperfective verbs in
the present tense and therefore they make the narrative more dramatic as well as topical.

Czech interpretation of such a situation could be "Vcera jsem v obchodnim domé,
kdyz najednou ke mn¢ piijde néjaka Zena a obvini mne, Ze jsem ji ukradl kabelku." The
first of the verbs in Czech is seen as a simple imperfective verb unlike 'pfijde’ and 'obvini',
which indicate prefixed perfective verbs. 'Ukradl jsem', however, is another example of a
prefixed perfective verb in the past tense.

4.4  Stative verbs-verbs occurring in simple forms 'only’

In discussing the present simple tense it must be taken into account that there are
restricted groups of verbs in English referring to states. These groups of verbs are called
'stative verbs'. It is owing to the fact that they express (e.g. feelings, emotions, states of
mind, wants and preferences, perception as well as senses, and last but not least a state of
being). However, what is typical of them is that "stative verbs usually occur in simple
forms only." (Kubrychtova 1995, 5)

For example: a) I love you.(feeling) b) It tastes sour.(senses)

Non-Progressive verb forms characterise these verbs in English. Subsequently, the
corresponding Czech equivalents (a) Miluji té. b) Chutna to kysele) indicate that Czech
uses imperfective verbs to refer to feelings and senses at present. The verbs 'miluji' and
'chutnd' are marked for the imperfective aspect accordingly.

Nevertheless, Comrie claims that the progressive in English has a number of other
specific uses as far as stative verbs are concerned. A verb of sensual perception 'see' can
serve as a typical example; a) ' | have only had six whiskies and already I'm seeing pink
elephants.'

b) 'I'm seeing my girlfriend on Friday.'

In the first example the progressive form of the verb 'see’ indicates that I'm only
imagining things, in fact there are no elephants for me to see. On the other hand, if we
include a time expression, the progressive variant of the verb see-seeing, it might have a

dynamic use of 'meeting' someone.
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"Vidim slony and V pdtek mam schuizku se svou divkou" are possible interpretations
on the basis of which we imply that the imperfective verbs (e.g. vidim, mam) can be used in
such situations in Czech. In the b) example the imperfective verb form has a future time
reference. However, the b) example is a possible interpretation in a colloquial speech only
as we use the periphrastic form of the verb 'mit' in the future tense 'budu mit' to expresses
that event.

Nonetheless, it is Kubrychtova who claims that "some verbs have both stative and
dynamic uses if they occur in progressive forms." (Kubrychtova 1995, 5) 'Smell, taste,
weigh' are typical examples of such uses;

a) I'm tasting the soup. aa) It tastes salty.

b) She's smelling the rose.  bb) The rose smells beautiful.

That is why it clearly follows that progressive forms of certain verbs (e.g. taste and
smell) might have a dynamic meaning and thus they occur with progressive aspect in such
situations as well. Denoting an on-going situation, 'Chutndm, vonim, vadzZim se' are
imperfective verb forms indicating the imperfective aspect in Czech respectively.

4.5 The present progressive

la Do be quiet! I'm trying to hear what the man is saying. (activity in progress)
1b Do you think I look slimmer? I'm slimming. (temporary activity)

Ic We are eating in the kitchen during this cold weather. (habitual activity)

According to Graver "the progressive forms represent actions or events, or series of
actions or events, viewed at some point between their beginning and end." (Graver 1994,
62) Thus the sentences denote an action that has already begun but is not yet completed. At
the same time they indicate that the duration of the action or series of actions is limited.

In the sentence 1a, the progressive form indicates an activity in progress at the very
moment of speaking. In this respect, we refer to a progressive verb form of a dynamic
activity verb #ry. Hence, it is the progressive aspect that we must consider this time.
Furthermore, the Czech counterpart " Snazim se slySet co ten muz 7ika” would best
correspond to the English equivalent. In such situations Czech uses imperfective verbs

indicating an event in progress at present (e.g.snazim se).
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Moreover, "we generally use the present continuous to refer to something temporary
which has begun and has not finished, something which is completable and is in the process
of being completed." (Parrot 2000, 157) 1b event, for instance, indicates a temporary
activity over a more extended period of time.

Expressing temporary activities, progressive forms of dynamic verbs occur with the
progressive aspect as well (e.g. slimming). Similarly, imperfective verb forms are used in
such situations in Czech (e.g. as in the 1b example "hubnu"). In view of the given fact, we
refer to the imperfective aspect in Czech as the verb forms express not only activity in
progress at the moment of speaking 'snazim se’ but also temporary activities 'hubnu’. Both
of the verb forms go with the imperfective aspect accordingly.

Last but not least a thought must be given to the fact that the Present progressive is
also concerned with habitual activity, but habitual activity over a limited period of time.
Consequently, 1c "We are eating in the kitchen during this cold weather" refers to a series
of actions of limited duration." The activity is viewed as a temporary arrangement, which

is 'during this cold weather'

k EEEER l‘4— This cold weather
|
| >

now

As has already been suggested, the Present progressive tense refers to actions in
spite of them being in progress only over a limited period of time. Even in this case we
refer to the progressive aspect as verbs indicating such situations have progressive forms
and a dynamic use. "Béhem tohoto studeného pocasi jime v kuchyni" is the corresponding
Czech counterpart. The imperfective verb 'jime' entails a topical situation of limited
duration at present. Therefore the verb occurs with the imperfective aspect in Czech.

As far as the semantic point of view is concerned, it is Broughton who claims that
we often use the present progressive with a future time adverbial to express our plans and

expectations:
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For example: a) We are going to Greece in August.
b) She's flying to London on Friday.

In discussing the present progressive tense with a view to personal plans for future,
progressive verb forms are used in English (e.g. going, flying etc.). Verbs such as
pojedeme, poleti can be used in Czech as equivalents, all of them expressing futurity.

Moreover, Cechova, as well as other Czech grammarians, points out that there is
another way of expressing a future action in Czech. She implies that Czech uses prefixes;
(e.g. po-, pl-) as far as some verbs of motion are concerned. However, such verbs are not
marked for the perfective aspect (e.g. pojedeme, poletim) and the Czech equivalents are as
follow:

a) V srpnu pojedeme do Recka.
b) V patek poleti do Londyna.

When we describe changing or developing states (e.g. using verbs like become,
decline, decrease, grow etc.), present continuous must be used even though we do not
necessarily think of the process as being temporary, e.g. Moral standards are declining. As
has already been mentioned, the verb 'be' is treated as nonstative (progressive auxiliary) and
declining indicates a progressive form of the verb 'decline', occurring in the progressive
aspect in such situations in English.

Czech favourites imperfective verb forms derived by suffix as the Czech
counterpart signals 'Moralka se sniZuje'. Based on the Czech interpretation, imperfective
verbs are used in Czech to denote changing and developing states and therefore these verbs
are marked for the imperfective aspect.

4.6  The present perfect -Perfect of result

In discussing the Present perfect, it should be born in mind that the present perfect
(often called 'the perfect') is only one of the possible tenses of the perfective aspect. It
expresses a relation between present state and past situation. "Thus the present perfect, for
instance "I have eaten" partakes for both the present and past." (Comrie 1976, 53)

In this phase of my paper I am going to deal with several types of 'the perfect' to

illustrate their possible meanings, comparing them with Czech equivalents.
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In the perfect of result a present state is referred to as being the result of some past
situation. In other words, it is the present relevance of a past situation that is of my primary
concern at the moment. Thus one of the possible differences between John has arrived and
John arrived is that the former indicates persistence of the result of John's arrival.

This implies that he is still here, whereas the second does not. It is the perfective
aspect that reflects this type of states in Czech as perfective verbs indicate completion of
events (e.g. John prijel)." In this respect, we refer to dynamic conclusive verbs-verbs whose
meaning implies the accomplishment of a change of state such as eat, recover, arrive."
(Leech 1985, 193)

Significantly, time relationship adverbs (e.g. yet, already) can occur with resultative
verbs going with the perfective aspect as illustrated in the following examples:

a) I've already to/d David about the party.

b) Have the children come home yet?

'Rekl jsem Davidovi o té party' clearly indicates perfective aspect in Czech as the
perfective verb 'fekl' illustrates completion of the action (he knows about the party) . In the
other example-b) the perfective verb prijely is derived by prefix. Moreover, it expresses
motion in the past tense.

4.6.1 Experiential perfect

The experiential perfect, on the other hand, indicates that a given situation has held
at least once during some time in the past leading up to the present. a) 'Bill has been to
America'
and b) 'Bill has gone to America' illustrate, however, that English makes a distinction
between the experimential perfect a) and the perfect of result b).

Consequently, Comrie points out that English does not have a distinct verb form
having an experiential perfect meaning. In the a) example the situation is viewed as
complete and thus it reflects the perfective aspect. '‘Byl jsem v Americe' is the Czech
interpretation indicating a state in the past. The verb 'byt', in the past tense 'byl', is
conceived as denoting 'state'. The verb is regarded in Czech as irregular and that is why it is
neither marked for the imperfective nor for the perfective aspect. This fact is also true with

other verbs considered irregular (e.g. chtit, védét, jist, mit).
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Moreover, "it is possible to restrict the period of time during which the situation is
referred to by specifying an earlier limit, in addition to the necessary later limit of the
present moment." (Comrie 1976, 59)

For instance: Bill has seen the film since Christmas.

This says that Bill has seen the film at least once in the period between Christmas
(earlier limit) and the present moment (later limit). In addition, Kopecny implies that
"certain verbs in Czech are marked for the perfective aspect as far as verbs of sensual
perception in the past tense are concerned (e.g.slySel, vidél)." (Kopeény 1960, 56)

'Bill videl ten film' would best correspond to the English example and henceforth
the imperfective verb occurs in the imperfective aspect in Czech. Nevertheless, the verb
action can also be viewed as perfective as far as the semantic point of view of verbs of
bodily sensation in the past tense is concerned (vidél).

4.6.2 Perfect of persistent situation
One use of the English perfect to which a consideration must definitely be given is
the use of the Perfect to describe a situation that started in the past but continues (persists)
into the present like 'I've lived there for ten years'. In this case the present perfective
indicates that the residence has continued up to the present time and may even continue
into the future. Thus the perfective signifies past time 'with current relevance'.

'Ziji tam deset let' is the Czech equivalent corresponding to it. It is evident that the
verb action is viewed as incomplete and thus the verb occurs in the imperfective aspect. It
must also be considered that the simple imperfective verb 'Ziji' does not only indicate
topical presence but a persistent situation whose duration is accentuated by means of the
time expression 'deset let'.

4.6.3 Perfect of recent past

Another important fact to be reckoned is that "the present perfect is used to refer to
an activity at an unspecified time before now, which can be expressed with time adverbials
for recent actions (e.g. just, recently, already, yet, still, finally)." (Kubrychtova 1995, 18)

For instance: a) [ have recently learned that the match is to be postponed.

b) Bill has just arrived.
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The verb actions are seen as simply ones of temporal closeness, i.e. the past
situations are very recent. Despite their present relevance, the past situations are this time
viewed as complete. As a result they signal the perfective aspect. 'Nedavno jsem se
dozvedel, ze ten zadpas ma byt odlozen' and 'Bill pravé prijel’ are the Czech equivalents.
Based on the Czech interpretations, it is clear that the verbs: 'dozvédel' and 'prijel' both
denote prefixed perfective verbs and henceforth reflect the perfective aspect. It is the result
of the verb actions that is of our main concern.

4.7  The present perfective progressive tense

"We use this tense about events or states that are relatively short though not
necessarily complete. If complete, they have only recently finished and still have
current significance."
(Broughton 1990, 224) This implies that it is the current impact of the activity that
concerns us rather than its completion.

Furthermore, we use the present perfect progressive for a short-term activity when
no adverbial is present and for an activity still in progress, the length of which is stated by
an adverbial. Nonetheless, it is Leech again who claims that when the perfective and
progressive aspects are combined in the same verb phrase (e.g. He has been working), the
features of meaning associated with each of them are also combined.

Duration, limitation of duration and possible incompleteness belong among the
primary features associated with the meaning of the progressive as illustrated in the
following examples:

a) I've been writing a letter to my friend.

b) How have you been getting on?

c) It's been snowing again.

These sentences contain durative verbs which go with the progressive aspect. The
meaning of the construction is that of temporary situation leading up to the present.

'Pisi dopis mému kamaradovi, jak se va dari and snéZilo are the Czech counterparts.
It is clear that 'pisi, dari and snéZilo are simple imperfective verbs that are marked in Czech

for the imperfective aspect. The verb form 'snéZilo' indicates an action in progress in the
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past tense. Nevertheless, it is the 'current relevance' that must be taken into account as we
can see the result of the past activity.
4.7.1 Limited duration and incompleteness

d) I have been living in Kladno all my life.

It is crucial to realise that with verbs such as: live, stand, lie the limitation of
duration of for example, all my life, is 'weak'. Comrie supports this assertion by claiming
that "English allows for nonstative uses of basically stative verbs." (Comrie 1976, 37)
Given the fact, verbs such as live, stand may appear in their progressive forms.

It is still true that these verbs express duration and even in these cases they go with
the progressive aspect. 'Ziji na Kladné cely Zivot' just clarifies the fact that the verb 'Ziji'
expresses an action in progress in Czech. Although with the verb Ziji the limitation is
relatively weak, the Czech interpretation entails limited duration by means of the time
expression 'cely Zivot'

In discussing incompleteness, according to Leech, a thought must be given to the
fact that the feature of possible incompleteness becomes evident when the perfective
progressive is combined with process predications. Thus each of the following sentences
carries a totally different meaning, for example:

e) I've cleaned the windows.

f) I've been cleaning the windows.

The simple perfective here has a resultative meaning:" The windows are now
clean". But the perfective progressive can be used even if the job is not finished. Again the
perfective and progressive aspects are combined here, the verb cleaning being in its
progressive form. 'Cistim okna', as the Czech counterpart illustrates, signifies imperfectivity
as this action is viewed as still being in progress. Henceforth the imperfective verb 'Cistit' in
the present tense-'Cistim' is marked in Czech for the imperfective aspect.

Finally Broughton arrives at a conclusion that the use of progressive verb forms
may also refer to a single action, series of habitual acts as well as to sarcasm as shown in
the examples:

g) lhave been opening my eyes.

h) Who has been cutting the string?
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1) He's been getting out of bed late all this week.

As a result it remains to be seen that verbs describing momentary actions (punctual
dynamic verbs like open, shut, ....) can be interpreted in progressive tenses with either
habitual meaning or slow motion. 'Cutting' the string, on the other hand, implies series of
actions-'cuts'. By means of the progressive form of the phrasal verb get out we may express
sarcasm on the part of the speaker as well. Supported by the time adverbial phrase (e.g. all
this week), the phrasal verb can refer to a limited period of time as in the 1) example. The
progressive and perfective aspects are combined and reflect incomplete verb actions as
illustrated in the g) and h) examples.

'Oteviram, stfihal, vstavdm' are imperfective verbs that go with the imperfective
aspect in the Czech language. The verb 'otevirdm' denotes a slow motion in the present
tense. The others indicate a group of verbs called' iteratives'. The verbs are marked for the

imperfective aspect as the verb actions are viewed as in progress or incomplete.
5. Past

As I have already mentioned in a section entitled 'Perfective aspect', there is a
difference between the action viewed as complete (perfective aspect) and completed. The
use of 'completed' lays great emphasis on the end of the situation unlike complete.
The use of 'completed' is
associated with the past simple tense.

The past simple is one of the tenses we use to refer to completed events, states or
actions. We also choose the past simple when we consider that the event, state or action
took place within a finished period of time. Expressions such as last week, at the weekend,
in 1988, or 4 weeks ago are used to make it clear that the time is finished. Parrot, however,
adds that the period of this completed time is sometimes only implied (e.g. Shakespeare

wrote over 30 plays).
5.1 Event, state, and habit in the past

In discussing the meanings of the past simple, it must be taken into account that it is
'definiteness' that is common to most examples of it.

a) The eruption of Vesuvius destroyed Pompeii.
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As the sentence illustrates, the most common sense is the 'Event Past', which refers
to a single definite event in the past. Consequently, the dynamic verb sense of destroyed
identifies a single event. The Czech equivalent 'Vybuch Vesuvu znicil Pompeje' indicates
that the prefixed verb 'znicit', in the past tense 'znicil', is in Czech marked for the perfective
aspect. It is owing to the fact that the verb action is seen as completed in the past and it is
the result of the action with which we are concerned.

On the contrary, the verb form 'was’ refers to a state and is therefore an example of
'State Past":

b) Archery was a popular sport during the reign of Queen Victoria.

Irrespective of the fact that in this particular case the verb 'be’ is used in the past
form, it is still treated as stative and occurs in the non-Progressive form. The form of the
verb 'byti' in the past-byla’ best denotes a stative meaning in Czech as well. In view of the
given fact, the Czech interpretation "Lukostileba byla popularnim sportem za vlady
kralovny Viktorie" confirms the fact that the verb form in the past tense 'byla' indicates a
state. Therefore the verb is marked in Czech for the imperfective aspect.

Furthermore, it is essential to bear in mind that "English has a separate 'Habitual
Aspect', though only in the past tense." (Comrie 1976, 25) for instance:

c) John used to work here.  d) She used to sleep in that cradle.

He points out that there is also a separate Progressive, e.g. John was working,
otherwise there is just the Simple form, with no further distinction of aspect. Nevertheless,
a sentence like John worked here may have habitual meaning. 'Pracovaval zde, spaval v
této kolébce' are Czech counterparts signifying imperfectivity as the verbs (e.g. pracovaval,

spaval) indicate repetition in the past tense. The verbs are called 'frekventativa or itearativa'.

.| Event past | - )
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[ ............................................................. Habitual past
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Time of orientation-then Time of orientation-now

Adopted from: Greenbaum 1985, 186
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5.2 Past continuous tense-sequence of events

When dealing with the progressive aspect in relation to tense, we must
predominantly realise that "the progressive aspect generally has the effect of surrounding a
particular event or point with a 'temporal frame'" (Leech 1985, 209) By this 'temporal
frame' he implies a reference to a past time orientation, for instance:

a) A moment later we were hurrying for shelter beneath the trees.

Consequently, it is the semantic point of view of progressive verb forms in the past
with which I am going to be concerned in this section in particular.

In view of the just mentioned features of the past tense continuous we should bear in
mind that it is used to describe something which began before a particular point in the past
and is still in progress at that point as illustrated in the following example:

b) I was still working at six o'clock (and I continued after that point)

The action may continue after that point unlike in c) in which case the action was
stopped at the key point in the past.

c¢) He was working at his computer when the power cut occurred.

What is more, Parrot claims that this use is sometimes called 'interrupted past
continuous'. In this case the simple past is used to describe the action which 'interrupted' the
past continuous action. The progressive aspect goes with these happenings (b) and (c) as
the verb working has in both cases progressive forms designating an activity in progress at
a given time in the past.

The Czech counterparts clearly signify imperfectivity as it is duration that is
expressed by the Czech verbs in the past tense. That is why the verbs occur in the
imperfective aspect. The counterparts are as follow:

b) 'V Sest hodin jsem stale pracoval.

¢) Pracoval na pocitaci kdyz byl prerusen proud.

6 o'clock now
; [
Was............. working
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The duration of the c¢) happening 'pracoval na pocitaci' was interrupted by a
subordinate clause of time 'kdyz byl ptferusen proud'. The verb action in this clause is
expressed by means of the Passive 'byl prerusen'.

5.2.1 'Complete’ periods of time against narrative

The choice of the past continuous rather than the past simple emphasises that the
activity was happening at every moment during the specified period of time. Parrot,
moreover, points out that we sometimes use the past continuous to describe events that
extended across 'complete’
periods of time (e.g. all day, the whole lesson, every moment of the journey).

a) She was chatting the whole lesson.

A) dynamic verb 'chatting' reflects the progressive aspect as it indicates a
progressive form, which 'chatting' definitely is as the event was going on across a complete
period. In this particular case the period is identified as the whole lesson. 'Povidala celou
hodinu' signifies that the verb 'povidala' does not attach great importance to termination of
that event placed in the past. In other words, it expresses an internal structure and hence the
imperfective aspect is referred to in Czech.

Furthermore, according to Peprnik the past continuos is often used to 'set the seen'
for events which were taking place. This implies that "the past continuous can be used to
establish the background against which the key events happen." (Peprnik 1995, 79) For
example:

b) I was leaving when he arrived.

B) Préave jsem odchazel, kdyz piisel.

The verb "leaving" represents a dynamic activity verb in progress. Consequently, it
goes with the progressive aspect. The Czech interpretation B) involves an imperfective verb
'odchazel'.

It is the imperfective aspect that goes with the verb expressing an action in progress in the
past. The verb action, however, was interrupted by the adverbial clause of time 'kdyz

ptisel'.
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5.3 Past perfect simple

Given the characterisation of the perfective aspect, I am going to deal with the past
perfect simple tense too. It has already been mentioned that the perfective indicates
'anterior time'. It is Greenbaum who claims that: "'anterior time' refers to time preceding
whatever time orientation signalled by tense or by other elements of the sentence or its
context." (Greenbaum 1985, 190) This time orientation represents a point in the past as far
as the past perfect tense is concerned.

Furthermore, it is crucial to bear in mind that the past perfect tense is marked both
for past time and for perfectiveness, meaning that the state, event or habit had occurred
before the point in the past of which we are thinking. Taking into account the features of
this tense, it clearly follows that the past perfect simple tense is preferred when we want to

clarify the order of events, e.g.:

a) They had finished eating when I got there. (Only the two tenses make the
sequence of events clear.)

b) They finished eating before I got there. (The conjunction before makes the
sequence of events clear, and so we can use the simple past rather than the past
perfect for the earlier of the events.)

A punctual dynamic verb 'finish' denotes an event finished before something else in
the past -(when I got there). Consequently, the verb goes with the perfective aspect.
'Dojedli, kdyZ jsem se tam dostal' is the Czech counterpart indicating that Czech can use a
subordinate clause introduced by a time conjunction-'kdyz' as the corresponding means to
express a sequence of events in Czech. We refer to the perfective aspect in that it is the
prefixed perfective verb 'skoncit' in the past tense (skoncili) with which it occurs. Equally,
another perfective verb in the past tense 'dojedli' can represent the Czech equivalent. The
verb action is viewed as completed in both interpretations.

In addition, it must be taken into account that 'Antipréteritum or
plusquamperfectum' are terms to be used to denote verbs expressing 'the past perfect' in
Czech. "This 'antipréteritum' is expressed by means of verbs in the past tense (préteritum)

and 'l' participle of the 'byt' verb." (Kolektiv autortt 1995, 317) However, they imply that
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'‘plusquamperfktum' is regarded as an archaic means and thus it is rarely used nowadays.
For example:

a) Stalo se, jak byl kral prikadzal.

b) Komornik povstal ode dvefti, kde byl sedél.

It is also essential to bear in mind that it is both imperfective and perfective forms of
verbs in the past tense that express the 'past perfect tense' in Czech, e.g. byl jsem sedel, byl
jsem prisel. 'Transgressives', (prechodniky), are another verb means of Czech that are used
to refer to 'relative time'. According to Cechova this implies that: "we refer tenses or events
with regard to other (basic) tenses or events." (Cechova 1996, 151)

c¢) Uklidiv§e odpocivali jsme.

Nevertheless, she claims that 'transgressives' and 'antipréteritum' are the only verbal
means to express relative time in Czech, it being: present, perfect and future. In addition,
lexical d), syntagmatic ) and syntactic f) means in Czech can express the relative time as
well:

d) Nejdrive jsme uklidili, potom jsme odpocivali.

e) Po skonceni uklidu jsme odpocivali.

f) Kdyz jsme uklidili, odpocivali jsme.

As the above examples signify, Czech uses time adverbials d), time prepositional
phrases e€) and subordinate clauses introduced by time adjuncts f) to express the mentioned
relative time in Czech accordingly.

5.3.1 State verbs, events, habits

Secondly, we use the past perfect simple instead of the past perfect
continuous if the verbs belong to stative verbs. These verbs refer to states and therefore
they occur in simple forms. In this respect, these verbs indicate: feelings, emotions (love),
states of mind (understand), wants and preferences (want, prefer), perception and senses
(see, feel), relationship or a state of being (be, own, belong).

a) | had understood that she was dissatisfied for a long time before she said
anything.

The verb 'understand' belongs to the group of stative verbs too as it expresses a state

of mind. Based on the facts above, the action expressed by the verb phrase 'had understood'
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illustrates a state placed in a period finished before another point in the past. Hence, the
verb is marked for the perfective aspect.

'Rozumél jsem, ze byla nespokojena dlouhou donu pfedtim nez néco fekla' is
considered as the Czech equivalent. In discussing states in Czech the imperfective verb
forms are used. 'Rozumeél jsem' is a typical example of such a verb indicating a state in the
past. As a result, it goes with the imperfective aspect in Czech.

Moreover, according to Greenbaum "the past perfective may be said to denote any
event or habit anterior to a time of orientation in the past." (Greenbaum 1985, 196) This
assertion might be supported by the following examples:

b)The goalkeeper had injured his leg, and couldn't play.

c¢) It was foolish to fire Mr. Nedvéd, in two seasons, he had scored more than any
other player. The time of orientation is expressed by means of the two clauses (and couldn't
play, It was foolish to fire Mr. Nedved). The verb 'injured' belongs to the group of dynamic
verbs. The event described by the verb had been completed before another started. Equally,
the verb 'scored' denotes a dynamic meaning, it being considered a dynamic activity verb.
In view of the given facts, both verbs illustrating 'event' in the first case and 'habit' in the
other occur in the perfective aspect.

'Brankaft si zranil nohu a nemohl hrat' and 'Bylo posetilé propustit pana Nedvéeda,
ktery béhem dvou sezon skoroval vice branek nez jakykoliv jiny hrac' represent the Czech
equivalents. It is the result of the action expressed by means of the verb 'zranil si' on which
we focus in the first sentence in Czech. Therefore the verb goes with the perfective aspect.

On the contrary, the other verb 'skoéroval' conveys an idea of repetition. That is why
we assume that the verb describes a repeated action across a period of time in the past. The
imperfective verb' skoroval' in the past tense thus goes with the imperfective aspect in

Czech accordingly.
5.3.2 Narrative

Using the past perfect is also of the utmost importance as far as narrative is
concerned. It is due to the fact that the past perfect describes the background of events. This
implies that events that happened before the main narrative are of my primary concern this

time.
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For instance: She had felt a bit off colour before she arrived in Prague.

The past perfect (had felt) is used to set the scene-to establish something which
happened before the key event (her arrival in Prague). The verb 'feel' is perceived as a verb
of bodily sensation. In this respect, it belongs to the group of stative verbs. It is also crucial
to realise that verbs of bodily sensation can have progressive aspect as well but with a little
difference in meaning. Nevertheless, in this example the past form of the verb 'feel-felt'
occurs in the perfective aspect.

'Pfedtim nez pfijela do Prahy se necitila ve své kiizi' is the corresponding Czech
counterpart. The verb 'necitila se' clearly indicates duration in the past before another event
started. As a result, the verb goes in Czech with the imperfective aspect. Furthermore, the
verb 'necitila se' is derived by prefix 'ne', indicating negation. The sequence of events is, in
this case, highlighted by the adverbial of time 'pfedtim'.

5.4  The past perfect progressive tense-sequence of events

In this chapter I am going to be concerned with a verb phrase combining both the
perfective and progressive aspects (e.g. had been working). In view of the fact that the
perfective and progressive aspects can be combined in the same verb phrase, we must
consider that the features of meaning associated with each of them are also combined.

A sentence like a) "He had been driving without a break for several hours when the
accident happened" signifies that "we use the past perfect progressive when we are
concerned with an extended or repeated event or activity which took place before a
particular point in the past." (Parrot 2000, 200) Therefore the perfective and progressive
aspects are combined in this verb phrase.

In discussing sequence of events, we must take into account that sometimes this
event or activity stops at the specified point of time. An adverbial clause of time can
specify this point as has already been illustrated (when the accident happened).

The verb 'Fidil' is an imperfective verb in the past tense designating duration. Based
on the fact that duration is associated with imperfectivity, the imperfective aspect reflects
that event in the past in Czech.

On the other hand, a sentence like b) "The family had been living in the house for

years before they noticed the bulge in the wall" implies that sometimes this event or activity
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continues beyond the specified point of time. The ¢) example denotes the activity or event
that has recently finished before the specified point of time: ¢) His eyes were red, I could
tell he'd been crying.

'Rodina zila v tom domé né¢kolik let nez si vSimla vypukliny ve zdi" might be
regarded as the Czech equivalent of b). The verb /ive is, according to Comrie (see Comrie
1976, 37), a stative verb. However, it takes a progressive form as well as shown in the b)
example. In such a case it indicates an extended situation-duration. The progressive and
perfective aspects are combined in this verb phrase too.

The verb 'zila' denotes an imperfective verb in the past tense because even in Czech
the verb action is viewed as continuing beyond the specified point of time (.e.g. nez si
vSimla vypukliny ve zdi). Subsequently, the verb 'zila' in the past tense is marked for the
imperfective aspect. Also, the verb 'plakal' clearly indicates that the event was extended in
the past and thus it implies the imperfective aspect in c) too: "Jeho oci byly cervené, bylo

vidét, ze plakal."

Example b)-a time line

Had been living

> now
p -

They noticed

A
Adopted from: Parrot 2000, 200

6. Future

In discussing futurity in English it must be clear that there is a difference between
the grammatical category of tense and the semantic category of time. Preisler points out that
English has two tenses: present tense and past tense, they being considered formal
categories. Therefore they should not be confused with the semantic categories of past,

present, and future time.
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In view of the given facts there is no future tense in English. Consequently,
Greenbaum claims that "futurity, modality, and aspect are interrelated." This implies that
future time is rendered by means of modal auxiliaries, by semi-auxiliaries, or by simple
present or progressive forms."(Greenbaum 1985, 213)

As has already been said the most common way of expressing futurity is the modal
auxiliary construction with will, shall. This is especially true with unplanned future events
a) or if we wish to make predictions that are not based on present or past evidence b):

a) I'll do that for you.

b) You'll feel better when you take this medicine.

Thus the a) construction including the infinitive form of the dynamic verb 'do'
indicates making decisions or offers spontaneity. The stative verb of bodily sensation 'feel'
after the modal implies a predictive meaning. 'Udélam to pro tebe' is the Czech counterpart
of a). It is crucial to realise that Czech uses present perfective verb forms (prézentni tvary u
sloves dokonavych) to express a future action like 'udéldm'. We are concerned with
completion of the verb action in such cases. This kind of verbs goes in Czech with the
perfective aspect.

'Budes se citit 1épe az si vezmes ten 1€k’ signifies that there are also other verbal
means available in Czech to express future actions (e.g. prediction/fact). "It is the
periphrastic future (opisné futurum) formed by the infinitive of lexical verbs and the future
form of the verb 'byt' that indicate future actions as well." (Smilauer1972, 224) 'Budes se
citit' undoubtedly confirms this fact. The verb action expressed by means of the
'periphrastic future' is incomplete in the future and thus the verb occurs with the
imperfective aspect.

6.1 Will/shall+progressive infinitive
'Future events in progress' and 'future as a matter of course' are typical examples of

the modal verb construction used with the progressive infinitive as the following examples

show:

a) When you reach the end of the bridge, I'll be waiting there to show you the way.
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b) We'll be flying at 30 000 feet.

waiting

a) example: [

—

then

now

The b) example entails that '30 000" feet is the normal and expected altitude for the
flight. If, on the other hand, the pilot said: "We'll fly at 30 000 feet", it could well be that
the pilot had just decided to fly at the specified altitude.

A dynamic durative and a dynamic transitional verbs indicate these events in
English. In view of the given facts, the verb constructions 'will be flying' and 'will be
waiting' denote actions that will be in progress in some future time. Consequently, the verbs
'flying' as well as 'waiting' are marked for the progressive aspect.

'AZ se dostanes na konec mostu, budu tam na tebe cekat, abych ti ukazal cestu' and
'Poletime v nadmotské vySce 30 000 stop' are the corresponding Czech equivalents. The
verb action is expressed by means of the verb in the future tense (opisné futurum), as
illustrated in the 1% sentence (budu ¢ekat), and prefix as far as the verb of motion in the
future tense is concerned- poletime in the other.

'Budu cekat' clearly indicates an event in progress in the future. This event will be
going on after another activity comes to a close (e.g. when you reach the end of the bridge)
The verb '¢ekat' belongs to the group of imperfective verbs and occurs in the imperfective
aspect accordingly.

As has been pointed out, Czech uses prefixes (e.g. po-, pi-) with some verbs of
motion. In this particular case, these verbs are not marked for the perfective aspect (e.g.
pojedeme, poletime). Kopecny defines these verbs as "pfedponové futurum" as opposed to
imperfective verbs. (Kope¢ny 1962, 47) Thus it remains to be clear that these verbs (e.g.

poletime) have an imperfective future meaning because they express duration.
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6.2 Future perfect

Taking into account that there are many means to express futurity in English, I am
also going to include another type of a verb phrase. This verb phrase is composed of the
auxiliary will/shall and the perfect infinitive. Not surprisingly, it is going to be the semantic
point of view from which I shall be dealing with this issue.

It must be clear from the outset that this auxiliary construction is used to refer to a
statement seen in the past from a point of orientation in the future. That is why a point in
the future is to be defined either by a time expression (e.g. by tomorrow) or clause (e.g.
when you see Tom).

Furthermore, Peprnik as well as other grammarians claim that: "we use perfect
forms to view things from a particular point in the future as already having taken place or
as having been completed." (Peprnik 1995, 150) That is why the dynamic activity verb

'check' occurs with the perfective aspect, as illustrated in the a) sentence:

a) I'll have checked it by moon.

- >

The Czech counterpart 'Do dvanacti hodin to budu mit zkontrolovano' elucidates the
fact that Czech expresses these events by means of a periphrastic form called 'resultative'.
'Budu mit zkontrolovéno', however, indicates a future resultative. See (Kolektiv autorti
1995, 152)

6.3  Future perfect progressive

In comparison with the future perfect simple, future perfect progressive is composed
of the auxiliary Will/Shall and perfective progressive infinitive. Moreover, a thought must
be given to the fact that perfective and progressive aspects combine in such phrases and

their meanings differ from other verb phrases accordingly.
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This means that " we use future perfect continuous forms to view things from a
particular point in the future when we are interested in how long they have been
happening." (Parrot 2000, 174) See the following example:

a) She'll have been working there for over twenty-five years when she retires.

Adopted from Parrot 2000, 174

| >
) x >

now Time of retirement

The progressive form of the dynamic durative verb 'work' in the verb phrase, as well
as the other progressive forms, refers to something that is predicted or programmed to
begin before a particular point in the future. 'Az pljde do dichodu, tak tam bude jiz
pracovat dvacet let' signifies that Czech expresses these events by means of imperfective
verbs in the future tense (.e.g. bude pracovat). The verb action is viewed as incomplete and
that is why the verb is marked for the perfective aspect.

7. Summary of aspect in English and Czech

In the previous chapters and subchapters of my paper I was dealing with the
semantics of the tense inflections as well as the nature of tense and aspect. I was trying to
accentuate the fact that the distinction between tense and time must be clear, concluding
that the past and present tenses in English are not to be defined as forms used to express
past and present time. These forms are labelled with the general terms past and present
tense on the basis of their primary use.

In addition, it must be born in mind that the terminological distinction between
tense and time has no well-established analogue as far as aspect is concerned.
Consequently, the term aspect is used both for a grammatical category of the verb and for
the type of meaning expressed by that category. In the following paragraphs I will be

dealing with the ways in which the verb action is regarded with respect to time though.
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Knowing the fact that the primary use of the present tense is to locate the situation
in the present time, the term 'situation’ is to be understood as a general term covering states,
actions as well as processes. The imperfective verb obiha in the sentence Zemé obiha kolem
slunce is the Czech interpretation of a situation expressed by the imperfective verb moves,
in this case expressing non-Progressive Present (7he earth moves round the sun).

Hence, it must be considered that with stative verb senses the present is used
without reference to specific time. The state present includes general timeless statements.
The sentence (e.g. We go to Brussels every year) elucidates the fact that the non-
Progressive Present of nonstative verbs (dynamic) refers to habits. The Czech equivalents
are viewed as not-topical and the verbs used are imperfective (e.g. Jezdime do Bruselu
kazdy rok).

Nevertheless, we should also consider that the progressive in English has a number
of specific uses as far as the stative verbs are concerned. 'I'm seeing my girlfriend on
Friday' thus illustrates that the progressive form can in this particular case have a dynamic
meaning of meeting someone. The Czech equivalent is indicated either by means of the
imperfective verb mam,having a future time reference in a colloquial speech or periphrastic
form of the verb mit in the future tense, i.e. Budu mit schiizku se svoji divkou v patek.

Progressive forms represent actions, events or series of actions as well as events
viewed at some point between their beginning and end. The sentences denoting an action
that has already begun but is not yet completed, they also indicate that the duration of the
action or series of actions is limited. "We are eating in the kitchen during this cold
weather" exemplifies the case when a series of action refers to limited duration, it being
viewed as a temporary arrangement. The Czech equivalent "Béhem tohoto studeného
pocasi jime v kuchyni" indicates that Czech favourites the imperfective verb jime as the
situation is viewed as a topical one in Czech too.

Perfect of result, experiential perfect, perfect of persistent situation, and perfect of
recent past are cases when the present perfect (often called 'the perfect') is used (i.e. John
has arrived). Unlike the actions viewed as incomplete, i.e. in progress (imperfective and
progressive), the actions viewed as complete (perfective) refer to the perfective aspect.

Hence, the present perfect is only one of the possible tenses of the perfective aspect.

41



On the one hand, Czech equivalents include perfective verbs indicating completion
of events (i.e. John prijel) or temporal closeness (i.e. Neddvno jsem se dozvedel, ze ten
zépas ma byt odlozen-I've recently learned that the match is to be postponed). On the other
hand, imperfective verbs can be used in Czech to indicate that a given situation has held at
least once during some time in the past leading up to the present.

Nevertheless, the verb might also be viewed as perfective as far as the semantic
point of view of verbs of bodily sensation in the past tense is concerned (i.e. Bill videél ten
film-Bill has seen the film). 'I've lived there for ten years' is a typical example of perfect of
persistent situation as the situation still continues (persists) into the present. In Czech the
situation is viewed as incomplete and the verb 'ziji' therefore occurs in the imperfective
aspect (Ziji tam jiz deset let).

The progressive, it being one of the aspect constructions of English, may combine
with the other aspect construction-the perfective. This implies that when the perfective and
progressive aspects are combined in the same verb phrase (i.e. He has been working), the
features of meaning associated with each of them are also combined. As a result, such verb
phrases can indicate duration, limitation of duration as well as possible incompleteness.

Unlike the progressive perfective, the simple perfective I've cleaned the windows'
has a resultative meaning (the windows are now clean). However, the feature of possible

incompleteness becomes evident when the perfective progressive is combined with process

predications. That is why the verb phrase in a sentence like 'l've been cleaning the
windows' indicates that the event has started and is still in progress. 'Cistim okna' as the
Czech equivalent illustrates, signifies imperfectivity in Czech. Consequently, the verb form
cistim occurs in the progressive aspect.

While the use of the term perfective aspect is associated with the action viewed as
complete, the term completed lays great emphasis on the end of the situation. The past
simple is one of the tenses we use to refer to completed events, states or actions. For
instance, '"The eruption of Vesuvius destroyed Pompei' is an example of the 'Event Past' as
the dynamic verb sense of destroyed identifies a single event. The Czech equivalent
'Vybuch Vesuvu znicil Pompeje' indicates that in this particular case it is the perfective

verb znicil refering to completed actions in the past.
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Sequence of events, narrative, as well as 'complete' periods of time (i.e. the whole
lesson) illustrate the cases when the past continuous tense is preferred. In this respect, it is
crucial to realise that the progressive aspect has the effect of surrounding a particular event
or point with a 'temporal frame'. Nonetheless, by this temporal frame is meant a reference
to a past time orientation (i.e. six o'clock). The verb action in the sentence 'l was working at
six o' clock' is viewed as in progress at the point and may even continue after that point.
The verb goes with the progressive aspect. The imperfective verb ‘pracoval’ in the sentence
'Pracoval jsem v Sest hodin' indicates the Czech equivalent.

Given the characterisation of the perfective aspect, it must be also considered that
the perfective indicates 'anterior time'. This anterior time refers to time preceding whatever
time orientation signalled by tense or other elements of the sentence or its context. In view
of the given facts, it is essential to bear in mind that the past perfect tense is marked both
for past time and perfectiveness, meaning that the state, event or habit had occurred before
the point in the past of which we are thinking.

'l had understood that she was dissatisfied for along time before she said anything'
illustrates the case when we use the past perfect instead of the past perfect continuous. It
applies to verbs referring to feelings, emotions or states of mind (i.e. understand). The
anterior time is in this sentence expressed by means of the perfective verb phrase had
understood. 1t is the imperfective verb rozumél jsem in the past tense that corresponds to
the non-Progressive variant of the verb in the past tense-understood.

Apart from being familiar with the perfective (one of the aspect constructions of
English), we ought to take into account that the perfective and progressive combine in a
verb phrase to illustrate that the past perfective progressive tense is used to refer to
extended or repeated events or activities having taken place not only before a particular
point in the past (i.e. The family had been living in the house for years before they noticed
the bulge on the wall).

Despite it being considered a stative verb, the verb /ive can take a progressive form
as well. However, in the above sentence it occurs in a verb phrase indicating an extended
situation (duration) before another point in the past. 'Rodina Zila v tomto domé nékolik let

nez si vSimla té¢ vypukliny ve zdi' is the Czech equivalent. The verb Zila denotes
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imperfective verb in the past tense because even in Czech the situation is viewed as
continuing beyond the specific point in the time in the past (i.e. neZ si v§imla t¢ vypukliny
ve zdi).

As has already been pointed out, there is a difference between the grammatical
category of femse and the semantic category of time. This is also true when discussing
futurity in English. English has two tenses; present tense and past tense. In addition,
according to Preisler, they are considered formal categories and should not be confused
with the semantic categories of past, present and future.

The modal auxiliary construction with will/shall, as one of the most common ways
of expressing futurity in English, is used with unplanned future events or if we wish to
make predictions that are not based on present or past evidence. The construction will do,
including the infinitive form of the dynamic verb do, indicates making decisions or offers
spontaneity. The Czech equivalent 'Udélam to pro tebe' clarifies the fact that Czech uses
present perfective verb forms (prézentni tvary u sloves dokonavych, e.g. udelam) in such
cases instead.

A sentence like: 'I'll be waiting for you to show you the way' indicates a future event
in progress expressed by means of the construction of the modal verb will and the

progressive infinitive (i.e. waiting). It is opisné futurum (i.e. budu cekat), formed by the

infinitive of lexical verbs and the future form of the verb byt, that Czech uses to refer to
future events in progress or to future as a matter of course.

Finally, it is a verb phrase composed of the auxiliary will/shall and the perfect
infinitive which is to be considered as well as far as the perfective is concerned. This
implies that this auxiliary construction is used to refer to a statement seen in the past from a
point of orientation in the future. The point in the future can either be defined by a time
expression (i.e. by tomorrow) or clause (i.e. when you see Tom).

Thus the verb phrase in the sentence:' I'll have checked it by midnight' indicates that
we use perfect forms to view things from a particular point in the future as already haven
taken place or as having been completed. The Czech counterpart 'Do piilnoci to budu mit

zkontrolovano' illustrates that Czech expresses these events by means of a periphrastic form

44



called 'resultative'. The construction 'Budu mit zkontrolovdano', however, indicates a future

resultative.

B. Practical part

8. Research-aim of the test

In this section of my paper I am going to analyse and discuss data which I shall
obtain from my research. This research is going to be based on a test. The main aim of this
test is to reveal whether or not pupils are capable of recognising primary features of aspect
not only in the English language but also in the Czech language. This means that pupils will
be asked to confront aspect constructions in English and their Czech counterparts.
Therefore finding relevant grammar means in the two languages that express the same verb
actions is in question.

In constructing this test I came to realise that an indirect testing will be the relevant
approach as pupils are not required to perform any productive skills such as speaking, or
writing. Nor do they have to show that they understand listening or writing. It is testing
abilities that underline the skills with which I am going to be concerned in this test.

The type of test I am going to use in this diploma paper is a criterion-referenced test
as it measures students progress in relation to meaningful criteria. Furthermore, it is going
to be a multiple choice that I consider the most appropriate testing technique as far as this
test is concerned. There is only one possible answer in each case only and the time limit of
45 minutes is fixed too. If a respondent is to be considered successful, they need to get at
least 15 of the questions right.

Ambiguity is one of possible obstacles to a test-writing and that is why I had
discussed some of the items that I later used in the test with my friends, who are novice
teachers as well. I also pre-tested the test on a similar group of students to make sure that
the instructions are clear and that the test measures what it is intended to measure. After I
had pre-tested the group of students, I rendered some of the answers into Czech as the

students had found it difficult to grasp their meaning sufficiently in English.

45



8.1 Analysis of the test

As I have already said, the outcomes of the theoretical part of this paper will be
guides for the questions to be used in the test. Moreover, the questions I am asking in the
test are not based only on the characteristics of aspect of the English but also Czech
language.

Being aware of the fact that aspect covers many points of grammar, the aims of
questions differ as well. The first three questions focus on the terminology associated with
aspect of English only (e.g. perfective aspect, progressive aspect, aspect and tense)

Having discussed the two aspect constructions of English in the theoretical part (the
perfective and the progressive), several questions dealing with 'the imperfective'
immediately follow to indicate a basic contrast of aspect between the action viewed as
complete (perfective), and the action viewed as incomplete, i.e. in progress (imperfective or
progressive).

The following questions of the test also focus on the way in which the verb action is
regarded or experienced with respect to time. Nevertheless, their purpose is to reveal
whether or not pupils are able to find relevant Czech equivalents of the verb actions
expressed by the verbs of English. Another questions, on the other hand, make it difficult
for the pupils to realise English equivalents of actions expressed by imperfective or

perfective verbs of Czech (e.g. "Chutna to kysele"
8.2  Results of the test

As I have already outlined, the first three questions of this test are aimed at the
terminology associated with aspect in English. Despite realising the fact that there is no
generally accepted terminology in discussions of aspect, I found it crucial to find out
whether or not the pupils of the fourth grades at secondary schools have at least
rudimentary knowledge of it. The correct answers are indicated by means of the bolted
letters in the tables.

1* question

The first question was extremely difficult as they were asked about what perfective

aspect of English indicates. It must be said that my doubts came true as 44% of them

considered that an action viewed as completed reflects the perfective construction of
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English. This group of pupils did not realise that despite the similarity between the words,
there is an important semantic distinction.

It is owing to the fact that the term completed puts too much emphasis on the
termination of the action while the use of complete puts no more emphasis on the end of the
situation than any other part of the situation. Consequently, only 28% of the respondents
came to realise that one of the two aspect constructions of English, the perfective, refers to

actions viewed as complete and thus the a) answer was correct.

answers a) b) C) d)

% of pupils choosing it |28 44 24 4

2" question

The other aspect construction of English, the progressive, was the topic of the
second question dealing with the term progressive aspect. Nevertheless, this time most of
the respondents, 52%, was aware of the fact that progressive aspect indicates a happening at
a given time as well as temporariness, having chosen the b) answer. Almost a third of them,
28%, incorrectly decided for the a) answer meaning that the term indicates a happening at a

given time only.

Answers a) b) c) d)

% of pupils choosing it |28 52 9 11

3" question

The distinction between the grammatical category of aspect and tense was the 'apple
of discord' of the third question of this test. I used two sentences "Joan sings well" and
"Joan is singing well" to illustrate that the two sentences have the same tense (present
tense) but different aspects. Surprisingly, 37% of the respondents was familiar with that
point of grammar and considered the a) answer correct.

That is why it must be taken into account that Joan sings well refers to Joan's
competence to sing, which is a permanent attribute unlike Joan is singing well which refers

to her performance on a particular occasion or during a particular season.
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Answers a) b) C)

% of pupils choosing it |37 24 39

4™ 5™ and 6™ question

The following group of questions, questions 4-6 in particular, deals with the
characteristics of the perfective aspect of English. The fourth question, for instance, was to
reveal whether or not the pupils are capable of distinguishing between the perfective and
progressive constructions and thus denote the result of a past situation. 38% of the
respondents knew that in the perfect of result a present state is referred to as being the result
of some past situation. This implies that they were familiar with the fact that the a) sentence
"John has arrived", which was the correct answer, indicates persistence of the result of
John's arrival.

50% of the pupils thought that the b) answer "John arrived" indicates the result of
some past situation. Unfortunately, this group was wrong as the verb form "arrived"

signifies a completed verb action in the past.

Answers a) b) C) d)

% of pupils choosing it |38 50 2 10

'Current relevance' is a common implication of the present perfective even though it
needn't necessarily mean any result of some past situation. That is why more than a half of
the respondents, 54%, chose the c) answer to the fifth question as the correct one, realising
that the present perfective indicates that the residence has continued up to the present time
and may even continue into the future. The a) answer, 22% of respondents chose "Petr lived
in Prague for ten years" was the second most frequent one. Nonetheless, the simple past
indicates that the period of residence has come to a close and thus there is no implication of

the 'current relevance' at all.
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Answers a) b) g d)

% of pupils choosing it |22 9 54 15

In discussions of the perfective aspect constructions, a question dealing with the
perfect of recent past must be born in mind. Consequently, the sixth question was to test the
pupils' familiarity of its usage. 35% of the respondents decided for the a) answer to the
sixth question, believing that the situation has started sometime in the past and but
continues into the present time. However, they were wrong unlike those pupils having
chosen the b) answer. They were aware of the fact that the situation has held at least once

during some time in the past leading up to the present.

Answers a) b) c) d)

% of pupils choosing it |35 25 5 35

To be able to recognise the features of the two aspect constructions of English in
detail, it is crucial to realise the contrast between them. This entails the differences between
the action viewed as complete and incomplete. Verb actions viewed as incomplete
(imperfective or progressive) characterise the following group of the questions 7-13.
Questions 7-13
7™ and 8™ question

While in the 7" question 64% of respondents assumed that the verbs in the
sentences "Water consists of hydrogen and oxygen" and "Two and three make five" are
regarded imperfective, expressing non-Progressive Present, 91% of respondents was aware
of the fact that the progressive form of the verb #y in the sentence "I'm trying to hear what
the man is saying" indicates an activity in progress at the moment of utterance. This group
of pupils chose as the correct answer a) option, which was the correct answer as well as the
other group

of 64% respondents deciding also for the a) answer in the 7" question.
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Answers a) b) C)

% of pupils choosing it | 64 14 22

Answers a) b) C) d)
% of pupils choosing it | 91 5 2 2

9™ question

Similarly, the ninth question of the test was to test the ability of the pupils to use
progressive forms appropriately. This also includes the case when the progressive form of
the dynamic verb s/im occurs with the progressive aspect, as indicated particularly in this
example "She is slimming." 77% of the pupils correctly responded that we use the present
continuous to refer to something temporary which has begun and has not finished,

something which is in the process of being completed. That is why the b) answer was

correct.
Answers a) b) C) d)
% of pupils choosing it |20 77 3 0

10™ question

Moreover, 71% of the respondents choosing the ¢) answer demonstrated in the tenth
question that the progressive aspect construction is also concerned with habitual activity,
but habitual activity over a limited period of time. That is why they decided that the c)
option, the progressive construction in the sentence "We are eating in the kitchen during

this cold weather" indicates a series of actions of limited duration.

Answers a) b) c) d)

% of pupils choosing it |3 23 71 3

" question
As far as the eleventh question is concerned, 85% of the respondents marked the a)
option to display their awareness of the fact that the verb action in the sentence "Moral

standards are going down" is viewed as incomplete. In other words, they came to realise
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that when describing changing or developing states, present continuous must be used even

though we do not necessarily think of the process as being temporary.

Answers a) b) C) d)

% of pupils choosing it |85 14 1 0

12" question

In addition, Leech implies that "when dealing with the progressive aspect in relation
to tense, we must predominantly realise that the progressive aspect generally has the effect
of surrounding a particular event or point with a 'temporal frame'." (Leech 1985)

That is why the intention of the twelfth question was to reveal whether or not the
respondents are familiar with the fact that an action expressed by a progressive verb form in
the past can be experienced as describing something which began before a particular point
in the past and is still in progress not only at that point but may even continue after that
point. The vast majority of respondents, 81%, decided for the b) option, which was the

correct one, having taken into account that the point is meant (e.g. 6 o'clock).

Answers a) b) c) d)

% of pupils choosing it |3 81 13 3

13™ question

Furthermore, the 13™ question was concerned with the semantics of the progressive
construction when an adverb of frequency is used in the same clause. Repetition, an event
in the past, an irritating habit on the part of the listener and an action in the past were the
possible options. In comparison with the previous questions, the pupils have not lived up to
my expectations as 73% of them incorrectly decided for the a) answer meaning repetition.
It might be owing to the fact that they associate the adverb a/ways with repeated events
only. Nevertheless, at least 16% of them knew that "He was always asking me about the

weather" indicates an irritating habit. Therefore the c) option was correct.
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Answers a) b) g d)

% of pupils choosing it |83 0 16 1

14™ question

In view of the given facts concerning perfective aspect, the prime aim of the 14"
question "Which of the sentences indicates a state of affairs before the past moment ?" was
to reveal what the pupils know about time orientation signalled by tense or other elements
of the sentence or its context. A group of pupils deciding for the b) answer constituted
almost a half or the respondents. 46% of them knew that a time orientation is expressed by
a point in the past and that the past perfect simple must be used instead of the past perfect
continuous as far as stative verbs are concerned. This fact is indicated in the b) answer by

the perfective construction (had understood).

Answers a) b) C) d)

% of pupils choosing it |21 46 21 10

15" question

Another question was dealing with the perfective construction of English as well.
However, the prime aim of this question was to find out whether the pupils are aware of
possible combinations of aspect constructions of English. Surprisingly, there was almost an
agreement between two groups of respondents preferring the a and b) answers. The first
group of them constituted 40%. They thought that the verb phrase had been living in the
main clause indicates an action finished when the family noticed the mark in the wall.

On the other hand, the other group of 45% of respondents marked the correct b)
answer, indicating an action that continued after they had noticed the mark in the wall. By
choosing this answer the pupils demonstrated their knowledge of the fact the perfective and
progressive aspects can be combined in the same verb phrase and henceforth the features of

meaning associated with each of them are combined accordingly.
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answers a) b) c) d)

% of pupils choosing it |40 45 10 5

16™ question

As has already been pointed out, the following group of questions is to reveal how
Czech pupils view actions expressed by English verbs and if they are capable of finding out
relevant equivalents of actions expressed by Czech imperfective as well as perfective verbs
respectively.

The first of this group of questions deals with the English equivalent of "Becker
podavd na Samprasa", in which case the action is expressed by the imperfective verb
podava. Exactly 60% of the respondents approved of the a) answer, considering "Becker is
serving to Sampras" the correct answer. However, they were wrong unlike the other group
of pupils deciding for the c) answer.

40% of them knew that "Becker serves to Sampras" is a typical example of a case
when a verb, for instance serves, refers to a single action began and completed
approximately at the moment. Another reason is that the imperfective form of verbs,
expressing non-Progressive Present is often favoured when a rapid series of events has to

be commented on as they are happening.

answers a) b) (9] d)

% of pupils choosing it |60 0 40 0

7™ question

In the 17" question the matter under discussion is stative verbs. The pupils were
asked to decide for a verb form corresponding to an action expressed by the imperfective
verb chutna. The two most frequent answers were a) "It is tasting sour" and c) "It tastes
sour."

However, a vast majority of respondents, 83%, chose c¢) was familiar with the fact
that stative verbs, for instance faste, occur mostly in simple forms. The progressive variant

of the verb taste would be perceived as a deliberate action. By choosing the c¢) answer the
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pupils must have realised that the action expressed by the verb form serves denotes present

state and the Czech verb form chutnd indicates the present tense.

answers a) b) (9] d)

% of pupils choosing it |16 1 83 0

18" question

To the group of stative verbs of English indispensably belongs the verb see. Bearing
in mind the fact that the term aspect is used both for the grammatical category of the verb
and for the type of meaning expressed by that category, the 18" question is concerned with
the Czech interpretation of the action expressed by the progressive form of the stative verb
see in the sentence "I'm seeing my girlfriend on Friday."

"Uvidim moji pfitelkyni v patek" and "Mam schiizku se svou piitelkyni v patek"
were the two most frequent answers b) and c). The first option preferred 44% of the
respondents. However, the members of this group did not realise that the stative verb see is
hardly ever used in the progressive variant, in which case it is perceived in the sense of
'meet’. The English counterpart of the b) example would have to be "I shall see my
girlfriend on Friday."

Therefore ¢) was the correct answer as "Mam schiizku se svoji piitelkyni v patek"
best indicates the Czech equivalent. Nevertheless, this interpretation is acceptable in a
colloquial speech only. The imperfective verb 'mam' has a future time reference then.
According to Cechové and many other Czech grammarians the periphrastic form of the
verb 'mit' in the future tense 'budu mit' ought to be used instead. As a result, only 35% of

respondents chose the c) alternative.

Answers a) b) c) d)

% of pupils choosing it |19 44 35 2

19™ question
The imperfective verb 'navitévuji' in the 19" question is marked for the imperfective

aspect in Czech as illustrated in the sentence "Tento mésic navstévuji hodiny aerobiku."
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Bearing this fact in mind, the pupils were to find a relevant equivalent of it in English.
Those pupils choosing the c) answer: "I am attending aerobics classes this month", there
were 45% of them, had assumed that the verb action is viewed as a series of actions of

limited duration. Furthermore, they must have realised that the activity is seen as a

temporary arrangement, which is indicated by means of the time expression this month,
respectively tento mésic.

22% of the respondents preferred the a) answer, having been aware of the fact that
the two aspects (the progressive and perfective) may combine within a verb phrase to
indicate repeated actions. However, these actions are viewed as repeated ones unlike those

of temporary arrangement. Consequently, this group of pupils was wrong.

answers a) b) (9] d)

% of pupils choosing it |22 30 45 3

20" question

Unlike the previous 19" question, the 20" question is focused on the Czech
equivalent of the verb action expressed by the verb see in the sentence "I've seen the film."
It is the perfective aspect of English with which the verb see goes. 81% of the
respondents must have known these facts as they decided for the a) answer. This implies
that 81% of the pupils was aware of the fact that the imperfective verb 'vidél' occurs in the
imperfetive aspect in Czech and that the verb action can be viewed as perfective as far as

the semantic point of view of verbs of sensual perception is concerned.

answers a) b) C) d)

% of pupils choosing it |81 9 7 3

21* question

The perfective is again the matter under discussion. Nonetheless, in the 21* question
the aspect construction of English describing a persistent situation and its Czech
equivalents is the matter with which the pupils were predominantly concerned. There were
only two answers for which most of the respondents decided. "Zil jsem tam deset let", the

b) option, preferred 56% of the respondents. Nevertheless, 42% of them was familiar with
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the fact that the perfective also describes a situation that started in the past, persists into the

present and may even continue into the future as indicated in the correct a) answer.

answers a) b) C) d)

% of pupils choosing it |42 56 1 1

22" question

The next question is focused on the perfective aspect construction of English, too.
The pupils were asked to find a relevant Czech equivalent of a verb action expressed by the
verb check in the sentence "I'll have checked it by moon." 28% of the respondents approved
of the d) answer, believing that the verb action expressed by the perfective verb 'zkontroluji'
in the sentence "Zkontroluji to do piillnoci" is the correct Czech counterpart.

Nevertheless, the other group of respondents, there were 64% of them, was right,
having chosen the c) answer. They took into account the fact that if there is the future
perfect simple in question (e.g. "'/l have checked it by midnight"), Czech uses the
periphrastic form called 'resultative.' The verb construction such as budu mit zkontrolovano

in the sentence "Budu to mit zkontrolovano do piillnoci" clearly illustrates that fact.

answers a) b) (9] d)

% of pupils choosing it |1 7 64 28

23" question

The following two questions deal with the perfective and progressive constructions
of English. Particularly, the intention of the 23" question was to demonstrate t he pupils'
ability to determine the corresponding Czech counterpart of the verb phrase 'have been
cleaning' in the sentence "I've been cleaning the windows."

To my surprise, 47% of the respondents constituted the biggest group of pupils who

"

regarded the c) answer, " Myl jsem okna, " correct. However, this Czech equivalent
corresponds to the sentence "I've cleaned the windows." The simple perfective 'have

cleaned' here has a resultative meaning.
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On the contrary, 17% of the respondents correctly marked the a) answer "Myji
okna," being aware of the fact that the perfective progressive have been cleaning can be
used even if the job is not finished. It is due to the fact that the perfective progressive is

combined with process predications. Therefore, "Myji okna" is the correct Czech

counterpart signifying imperfectivity as this action is viewed as still being in progress.

Answers a) b) C) d)

% of pupils choosing it |17 16 47 20

24" question

As mentioned in the previous question, the perfective progressive can either be used
for an action even if it is not yet finished or for an activity still in progress the length of
which is stated by an adverbial. However, the 24h question is particularly concerned with
repeated actions across a period of time as illustrated in the sentence "He has been doing
the washing up all this week."

"Umyval nadobi cely tento tyden" and "Myl nadobi cely tento tyden" are the two
answers which the pupils preferred most. The first of them, the c) answer, marked 42% of
the respondents believing that the verb action expressed by the iterative perfective verb in
the past tense umyval is the Czech equivalent However, this verb form denotes repetition in
the past and henceforth this interpretation is incorrect.

Nor is right the other group of respondents choosing the other interpretation-the a)
answer as it indicates a completed verb action. Finally, only 20% of the respondents was
right, realising that the verb action expressed by the imperfective verb myje in the sentence
"Myje nadobi cely tento tyden" is viewed both as incomplete and repeated. Consequently,

the d) answer is correct.

answers a) b) c) d)

% of pupils choosing it |35 3 42 20
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25™ question

The following 25" question was aimed to find out whether or not the pupils were
aware of the differences between the action viewed as complete and completed.
Surprisingly, 82% of the respondents correctly decided for the c¢) answer, indicating that
"Vybuch sopky zni€il mésto" is the best Czech equivalent of "The eruption of the volcano
destroyed the town." The verb action expressed by means of the prefixed perfective verb
znicil corresponds to the completed verb action expressed by the dynamic verb destroyed,

which identifies a single event in the past.

Answers a) b) g d)

% of pupils choosing it |1 0 82 17

26™ question

As far as the 26™ question 1s concerned, 77% of the respondents decided for the b)
answer: "They left for London on Friday" because they were familiar with the fact that the
verb left is imperfective, expressing non-Progressive Past. They also knew that the verb
action of the sentence is viewed as completed as well as that it corresponds to that
expressed by the perfective verb in the past tense in Czech odjeli as indicated in the
sentence: "V patek odjeli do Londyna." Furthermore, 17% of the respondents preferred the
d) answer, assuming that the progressive form of the verb go-going denotes a completed
action and thus it reflects the perfective verb of Czech, too. Nonetheless, this group of

pupils was wrong.

Answers a) b) C) d)

% of pupils choosing it |4 77 2 17

27" question
In the 27™ question the pupils were asked about the progressive as well having to
bear in mind that the term ' aspect' refers to a grammatical category that reflects the way in

which the verb action is regarded or experienced with respect to time. They were provided
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with three possible interpretations of the sentence "Povidala celou hodinu." Three of them
included progressive verb forms and one illustrated a simple form.

Nevertheless, 77% of the respondents was persuaded that the b) answer "She was
chatting the whole lesson" was the English equivalent. They were right as the verb action
expressed by the progressive verb form in the past tense supported by the time expression
indicates duration. The past continuous in this case indicates an event extended across a
'complete' period of time, i.e. the whole lesson. That is why it corresponds to the verb

action expressed in Czech by the imperfective verb in the past tense povidala.

Answers a) b) c) d)

% of pupils choosing 18 77 5 0

28™ question

In comparison with the preceding question, the matter under discussion this time is
habits in the past. This implies that in the 28" question the pupils were asked to determine
the corresponding Czech equivalent of the sentence "Honza tam pracovaval,”" in which case
the iterative imperfective verb in the past tense pracovaval is used. Having taken into
account the fact that English has a separate 'Habitual aspect', as stated by Comrie (Comrie
1976, 25), 74% of the respondents agreed with the c) answer "John used to work there."
This group of pupils was right unlike the others, preferring the progressive verb forms as

well as the combination of the perfective and progressive constructions as illustrated in the

b) and d) examples.
Answers a) b) ¢ d)
% of pupils choosing it |1 3 74 22

29" question
The intention of the last but one question is to reveal whether or not the pupils are
capable of finding the relevant equivalent of the perfective as illustrated in the sentence " I

had written a letter before going to bed." The respondents, having been offered four
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alternatives, preferred the b) answer most. Those pupils, constituting 62% of the
respondents, realised that the verb action expressed by the perfective verb napsal in the
sentence "Napsal jsem dopis piedtim nez jsem Sel spat" is the correct equivalent of the
sentence.

They also knew that the past perfect is marked for both past time and for
perfectiveness, meaning that the event, writing of the letter, had occurred before the point
of time of which we are thinking. By this point is meant the point of going to bed,

respectively piredtim nez jsem Sel spat.

Answers a) b) C) d)

% of pupils choosing it |20 62 5 13

30" question

The last question, however, is concerned with a verb phrase combining both the
perfective and progressive aspects and its Czech equivalents. This implies that the pupils
were asked whether or not it is perfective or imperfective verbs of Czech that express the
same situation as illustrated in the sentence " I had been writing a letter before going to
bed."

The respondents had hardly any difficulty choosing the correct interpretation as
76% of them preferred the c) answer: "Cetl jsem tu knihu dvé hodiny kdyZ se moje matka
vratila." Based on the Czech equivalent, the pupils were aware of the fact that Czech uses
the imperfective verb in the past tense Cet/ to express the same verb action as the verb
phrase had been writing, which indicates an extended activity taking place before a
particular point in the past. This particular point in the past is illustrated by the subordinate

clause of time when my mother returned.

Answers a) b) c)

% of pupils choosing it |18 6 76
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8.3 Report on the test

Having mentioned at the very beginning of the practical part that this test was going
to be based on the findings of the theoretical part of this diploma paper, I compared and
contrasted various renowned Czech and English grammarians' opinions of aspect so as to
provide sufficient theoretical 'basis' for the research.

This report is to summarise all the grammatical points concerning the aspect
constructions of English as well as their Czech equivalents. This implies that this report is
to highlight the 'areas' concerning aspect with which the students have found difficult to
cope in particular. On the other hand, characteristics of aspect causing no difficulty to the
pupils will be considered in this part, too.

In view of the given facts, the pupils demonstrated profound knowledge of the
characteristics of aspect not only with a view to the English but also to the Czech language.
In other words, they were capable of recognising the primary features of one of the two
aspect constructions-the progressive. The fact that the progressive indicates an action at the
moment of utterance and a changing or developing state caused no difficulty to them at all.

So successful were also the pupils as far as the imperfective verbs of English are
concerned. 83% of the respondents came to realise that a verb of sensual perception faste,in
this case the nonprogressive variant, describes a state corresponding to the action expressed
by the Czech imperfective verb chutna, as indicated in the sentence "Chutna to kysele."

They also did exceedingly well in some of the questions dealing with another of the
English aspect constructions-the perfective and its Czech equivalents This is especially true
with the 20 question indicating that the perfective refers to actions viewed as complete, for
example: "I've seen the film", it being the English equivalent of "Vidél jsem ten film."

The pupils fulfilled my expectations as regards the contrast between an action
viewed as complete and an action viewed as completed. Unlike the previous matter, they
were able to determine that actions expressed by imperfective verbs of English (e.g.
destroyed, left) denote completed actions in the past tense. Furthermore, they managed to
determine the corresponding equivalents, the Czech in the first case and the English in the

other, they being znicil, odjeli.
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Expressing habits in the past caused no difficulty to the pupils either. It was owing
to the fact that most of them, 74% of the respondents, arrived at a conclusion that English
has a separate 'Habitual aspect' as illustrated for instance in the sentence:" John used to
work there."Therefore, the pupils knew that imperfective iterative verbs are used in Czech
to express the same actions such as pracovdval in the sentence "Honza tam pracovaval."

To the other group of questions causing 'tiny' problems belong those focusing on the
terminology concerning aspect, simple forms, and last but not least the perfective
construction including 'current relevance'. In this respect, the range of correct answers of all
respondents regarding equivalents varied from 50 to 70% apart from the 2nd question, in
which case only 52% of them realised that progressive aspect also indicates a happening at
a given time as well as temporariness.

In addition, the respondents were familiar with the fact that 'current relevance' is a
common implication of the present perfective even though it needn't necessarily mean any
result of a past action. As a result, 54% of them marked the sentence "Petr has lived in
Prague for ten years," having realised that the present perfective indicates that the residence
has continued up to the present time and may even continue into the future.

It must also be said that the level of their success was to a certain extent influenced
by 'anterior time' and the context in which the verbs, verb phrases, or constructions
occurred. This applies especially to the perfective construction as illustrated in the
questions 29 and 30. Only 62% of the respondents recognised that the Czech equivalent of
the action expressed by the perfective phrase had written, as illustrated in the sentence "I
had written a letter before going to bed", is "Napsal jsem dopis predtim nez jsem Sel spat."
The action, expressed by a perfective verb (napsal), is viewed as already completed before
the other started.

While in the previous Czech equivalent the respondents realised that the verb action
is expressed by the perfective verb napsal and the action is considered completed, 76% of
them knew that the verb action in the past had been writing indicates an extended activity
taking place before a particular point in the past. Consequently, the pupils were aware of
the fact that the imperfective verb Cet/, indicating an action in progress, is used in the Czech

equivalent.
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In spite of the fact that some of the pupils might not have been familiar with the
future perfect (e.g. I'll have checked it by midnight), 64% of them was capable of realising
that perfect forms are used to view things from a particular point in the future as already
having taken place or as having been completed as they correctly determined the
corresponding Czech equivalent "Budu to mit zkontrolovano do ptlnoci." By choosing this
equivalent, they also demonstrated their awareness of the fact that Czech uses the 'future
resultative' in such cases instead.

Designating state of affairs before the past moment surprisingly caused difficulty to
almost a half of the respondents. This says that only 46% of the respondents bore in mind
that the past perfect simple must be used instead of the past perfect continuous as far as
stative verbs are concerned (e.g. had understood).

It came to light as well that a combination of aspect constructions causes exiguous
problems to more than a half of the pupils. In particular, the fact that the perfective and
progressive aspects can be combined in the same verb phrase came to realise correctly 45%
of them. Only this group of pupils knew that the action expressed by the verb phrase had
been living in the sentence "The family had been living in the house for years before they
noticed the mark on the wall" is viewed as continuing even after the past moment (e.g.
when the family noticed the mark).

Moreover, I was quite disappointed to find out that 56% of the pupils considered the
imperfective verb in the past tense Zi/ as the correct Czech equivalent of the action viewed
as complete, for instance "I've lived there for ten years." To my surprise only 42% of them
believed that the perfective describes a situation that can persist into the present and
continue into the future and that imperfective verbs (e.g. ziji) are used in such cases in
Czech.

Based on the results of the test, it clearly follows that almost a half of the
respondents failed to determine the correct Czech equivalents as far as the perfective and
progressive are concerned. I mean that there was 83% of them not being familiar with the
fact that when the perfective and progressive constructions are combined, the action
expressed by the verb phrase can be viewed as "incomplete" (e.g. "I've been cleaning the

windows") and Czech uses imperfective verbs (e.g. myji) in such cases instead.
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Nor were many of the pupils aware of the fact that the term perfective aspect is used
to indicate actions viewed as complete. Nonetheless, it came to me as no surprise when
44% of the pupils had assumed that the perfective (perfective aspect) is used to indicate
completed actions. Consequently, I dare say that the terminology concerning aspect is not
as important as
verb forms and the possible ways of regarding verb actions with respect to time.

One may probably say that the range of respondents, 100, does not guarantee the
general status in secondary schools. However, the original sense of this part of the diploma
paper was to concentrate mainly on the group of pupils studying the English language at
length at secondary schools. In this respect, I consider all the resulting issues both reliable
and valid.

9. Conclusion

In this paper I was dealing with aspect in English and Czech. I was trying to find
answers to questions such as Is aspect related to time of utterance, does English distinguish
between aspect contrasts, does any ending mark aspect in English? It must be said that |
did not apply all these questions to the English language only but to the Czech language as
well.

I came to realise that aspect is not related to time of utterance as “aspect refers to
how the time of action of the verb is regarded— such as whether it is complete, in progress,
or showing duration.” (Crystal 2001, 225) Being aware of the fact that English does
distinguish between aspect contrasts, I made a significant note of the fact that English has
two sets of aspectual contrasts; perfective /imperfective and progressive/non-progressive.
The most typical subdivision of imperfectivity is illustrated in the following table:

Adopted from : Comrie 1976, 25

Perfective Imperfective
|

Habitual Continuos
|

Nonprogressive Progressive
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To find relevant answers not only to the above raised questions but cover all the
features of aspect in detail, I consulted many of the accomplished grammarians' grammar
books (Aspect, A University Grammar of English, Slovesny vid v feting, Cestina-Re¢ a
Jazyk). As a result, I was capable of making my own picture in terms of which terms they
use to refer to particular characteristics of aspect.

Consequently, I arrived at a conclusion that the progressive aspect marked by -ing
ending indicates that the event is regarded as still in progress unlike the perfective aspect.
The perfective aspect is marked by -en, in its broadest interpretations, signifies anterior
time. This implies that the event has occurred in the period up to a given time (e.g.-for the
present perfect it is 'before now'). Nevertheless, all the grammarians were in accord in that
the term aspect refers to a grammatical category that reflects the way in which the verb
action is regarded or experienced with respect to time.

Having become familiar with the characteristics regarding aspect, I drew my
attention to the primary features of aspect in English such as the aspect constructions of
English (the perfective and progressive). In this respect, it is crucial to realise that the
difference between the action viewed as complete (perfective) and incomplete, i.e. in
progress (imperfective or progressive) can be seen as the contrast between the two aspect
constructions.

It must be also taken into account that while the progressive form of verbs (e.g.
living) indicates incompleteness-something relatively temporary, the non-progressive
variant /ive is considered imperfective as well, expressing non-Progressive Present though.
This implies that the imperfective verb /ive suggests a longer, indefinite duration.

A reader of this paper will have become aware of the fact that the non-progressive

presents situations as in progress and hence the situation might be either static or dynamic

(e.g. It rained/It was raining). The first situation is viewed as a whole while the other as in
progress. Moreover, it should be clear that: "English has a separate Habitual aspect, though
only in the past tense, e.g. John used to work there." (Comrie 1976, 25)

Having covered the main characteristics of aspect in English, I focused on the
properties of aspect in Czech in the second chapter of the theoretical part of my paper. The

Czech grammarians came to an agreement that the term aspect (vid) is to be defined as an
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ability of the verb to express 'imperfectivity' (nedokonavost) and 'perfectivity'
(dokonavost). The contrast between the aspects can be perceived as one between duration
and completion.

Nonetheless, what must be considered is that perfective verbs in Czech indicate
either a completed action (e.g. Napsal jsem dopis) or action that will be completed (e.g.
Napisu dopis). As regards a detailed distinction of imperfective and perfective verbs in
Czech, Havranek points out: "It is the ability of imperfective verbs to express topical
present (aktudlni ptitomnost) unlike perfective verbs.

“Perfective verbs cannot express 'real' present as their forms already denote future
(e.g. vyrobi, napise)." (Havranek, Jedlicka 1988, 225) To express futurity, Czech also uses
a construction called 'periphrastic future-opisné futurum' formed by the infinitive of lexical
verbs and the future form of the verb 'byt' (e.g. Budu cekat, corresponding to 1'll be
waiting).

In the following subchapters I was dealing with the formation of imperfective and
perfective verbs respectively. On scrutinising the Czech grammar books with a view to
aspect, I realised that imperfective verbs in Czech are very often underived verbs-'prosta
slovesa' such as nese, bere, pise. Nevertheless, most of them are derived from perfective
verbs, either 'prostych' (.e.g. Fika-rekne, hazi-hodi) or 'predponovych' (e.g. nese-prinese).

Moreover, the aspectual contrast is not realised with all verbs and that is why these
verbs are called impair verbs. This applies especially to modal and stative verbs such as
moci, chtit, and sedet, leZet, stat. Consequently, these verbs lack their aspectual counterpart.
On the other hand, " an aspectual pair can be defined as a pair of verbs that are different
from the aspectual point of view but their lexical meaning remains the same, i.e. vypsat-
vypisovats.

After I had finished dealing with aspect characteristics of each of the languages
individually, I underwent a detailed study based on the comparison of aspect
constructions/contrasts with their Czech counterparts. I summarised my findings in the last
chapter of the theoretical part of this paper. This was to become the basis for the research,
constituting the 'core' of the practical part. This research was based on a test whose goal

was to reveal whether or not the pupils were able to distinguish the primary features of
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aspect in English as well as in Czech and finding corresponding counterparts of situations
expressed by verbs, verb phrases or constructions.

As regards the criteria of the test, I considered the respondent successful if they
answered at least a half of the questions correctly (50%). In this respect, all of the
respondents demonstrated they were quite familiar with the tested matters as they
succeeded in answering on average 60% of the raised questions.

Following the administration of the test, the respondents were aware of the fact that
the progressive indicates a happening at a given time, temporariness, and a changing or
developing state. When focusing on imperfective verbs in English, they came to realise that
a verb of sensual perception (e.g. taste), the nonprogressive variant, describes a state
corresponding to the action expressed by the Czech imperfective verb 'chutnd', which goes
with the imperfective aspect.

81% of the respondents came to realise that the perfective, one of the aspect
constructions, refers to actions viewed as complete, e.g. ['ve seen the film. Moreover, they
were aware of the fact that the imperfective verb videél in the sentence 'Videl jsem ten film'
is the Czech equivalent occurring in the imperfective aspect.

The pupils fulfilled my expectations as regards expressing habits in the past. 74% of
them arrived at a conclusion that English has a separate 'Habitual aspect' (e.g. John used to
work there) and that it is imperfective iterative ( nedokonava nasobend) verbs which are
used in Czech to express these situations instead, e.g. pracovaval in the sentence:" Honza
tam pracovaval."

Nevertheless, there were also 'areas ' causing them tiny problems such as the present
and past perfective. This implies that only 54% of them was familiar with the fact that
'current relevance' is a common implication of the present perfective even though it needn't
necessarily mean any result of a past action (e.g. Peter has lived in Prague for ten years).

Surprisingly, a bigger group of respondents, 64%, knew that perfect forms are used
to view things from a particular point in the future as already having taken place or as
having been completed. It ensues from the fact that they correctly decided for the Czech
construction called 'future resultative' (e.g. Budu to mit zkontrolovano do ptilnoci) as the

equivalent of "I/l have checked it by midnight).
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On the other hand, I was quite disappointed to find out that 56% of the respondents
considered the imperfective verb Zi/ in the past tense as the correct equivalent of the action
viewed as complete, e.g. ['ve lived there for ten years. Nor was I pleased to discover that
83% of the pupils were not familiar with the fact that when the perfective and progressive
constructions are combined, the action expressed by the verb phrase can be viewed as
"incomplete", e.g. ['ve been cleaning the window). They did not presuppose that Czech
uses imperfective verbs (e.g. myji) instead.

Also one ought to beware of the fact that a misinterpretation is very likely to occur
in Czech should a speaker confuse every past form for a perfective verb form. On the

whole, the test proved that the pupils were quite familiar with aspect in English and Czech.

68



Resumé

Vztahuje se vid k dobé promluvy? RozliSuje angli¢tina vidové protiklady? Pokud
ano, jaké to jsou a do jaké miry ovliviluyji funkce promluv? Oznacuje n¢jaka
koncovka vid v angli¢tiné ? Toto jsou piiklady otazek, s jimiz se zabyvam v této diplomové
praci. Nicméné to neni pouze vid v anglicting, ale také vid v cesting, ktery je ve stfedu
mého zajmu.

Dtivod, pro¢ se zamétuji na vid v obou jazycich je ten, Ze se pomoci komparativni
metody na zakladé funkcéniho pfistupu pokousim nalézt ceské gramatické prostredky
odpovidajici situacim, pro které anglicky jazyk pouziva perfektnich a progresivnich tvari.
Abych toto teoretické porovnani mohl uskutecnit, musel jsem se nejdiive detailné
sezndmit s lingvistickou literaturou, pfedev§im pak s autory zabyvajicich se rliznymi
charakteristikami vidu.

Mezi vyznamné gramatiky bezesporu patii Huddleston, Quirk, Parrot, stejné tak
jako &eské lingvistické odborniky reprezentujici Havranek, Jedlicka, Cechova atd.
Predevsim diky jim jsem byl schopny si uvédomit mnoho aspekti vidu v obou jazycich.
Avsak teoretickd ¢ast této diplomové prace neni zaméfena na podrobné porovnani
pouze na zéklad¢ jejich pohledii na gramatickou kategorii vidu, gramatickou kategorii
Casu (tense) a sémantickou kategorii Casu (time). Znamena to, Ze ja sam se pokousim
v kapitole ,,Aspect in English and Czech", pfedev§im vSak v kapitolach navazujicich
(Present, Past, Future), o samostatné srovnani charakteristik vidu.

Na zaklad¢€ jiz zminéného porovnani jsem dosel k zavéru, ze vid v anglickém jazyce
nesouvisi s dobou promluvy, ale vztahuje se ke zplisobu, jak je ¢as ¢innosti slovesa vniman,
zda-li je ¢innost pojimana za skoncenou, v pritbéhu, ¢i ukazujici trvani. Pravdou také je, ze
anglictina disponuje dvéma skupinami vidovych protikladl, pro které pouziva termini:
perfective/imperfective a progressive/nonprogressive.

Jak jiz bylo zminéno, v anglickém jazyce to jsou predevsim perfektni a pritbé¢hové
tvary, jenz jsou Casto povazovany nikoliv za kategorii Casovou, nybrz za kategorii vidovou.

Proto napiiklad Duskova poukazuje na fakt, Zze ,,u perfektnich tvari vidovad strdnka
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(dokoncenost/rezultativnost déje) vyplyva z kombinace sémantiky slovesné a prostého
tvaru." (Duskova 1994, 241)

Navic zdaraznuje, ze vyznam dokoncenosti déje neni specificky pro perfektum,
nybrz se také vyskytuje 1 u préterita (e.g. Where have 1 put my glasses?-Where did 1 put my
glasses? Kampak jsem dal bryle?). Rozdil mezi perfektem a préteritem tak nespociva

v dokoncenosti déje (strance vidové), nybrz v rizném casovém odkazu. Perfektivni tvary

tak nepredstavuji kategorii vidovou, ale kategorii temporalni.

Stejné jako perfektni tvary, tak i prabehové tvary do znacné miry souviseji se
sémantikou  slovesnou (vyskytuji se zpravidla jen u sloves dynamickych). Avsak
k vyznamu slovesa pritbé¢hovy tvar ptidava rys pribéhovosti déje, coz je vyznam vidovy.
Vyjadieni déje v jeho pribchu je vSak vzdy spojeno s Casovym odkazem na ptisluSnou
Casovou sféru. "Pribéhové tvary lze tedy chépat jako kategorii temporalné¢ vidovou"
(Duskova 1994 , 242).

Tyto prubehové tvary jsou v angli¢tiné zna¢eny koncovkou -ing, kterd naznacuje, ze
udalost je vnimana jako stidle v pribéhu na rozdil od perfektnich tvard. Vid
dokonavy je v angli¢tiné znaCen pomoci koncovky -em a znaci 'anterior time'- 'Cas
pfedchazejici'. Toto vnimani ma za nasledek, Ze se udalost uskutecnila v obdobi vedouci
k uréitému danému c¢asovému urceni (napt. v souvislosti s pfedpfitomnym casem, to je
'pied touto dobou'). Mnoho gramatikl se tak shoduje, Ze termin vid je v angli¢tiné¢ vniméan
jako gramatickd  kategorie odrazejici zplsob, jakym je Cinnost slovesa povazovana
vzhledem k sémantické kategorii asu.

Ve vztahu k charakteristikdm vidu v angli¢tiné¢ se velmi vyznamné jevi otazka
vidovych  konstrukei. Anglicky jazyk ma dvé vidové konstrukce: perfektni a
progresivni. V. tomto ohledu je nezbytné nutné si uvédomit, Ze zdakladni rozdil
mezi nimi spociva ve zptsobu, jakym je ¢innost slovesa vnimana. Pokud ji posuzujeme za
skoncenou, anglictina pouziva perfektnich konstrukce (e.g. I have written the letter). Pokud
vSak je Cinnost slovesa vnimana jako neukoncena, napi. v pribchu, pouziva anglictina
konstrukce progresivni (e.g. She is writing a letter).

V dalsi casti této prace jsem se vénoval pouze charakteristikdm vidu cCeského

jazyka. Mam tim na mysli pfedev§im rozliSeni vidu na vid dokonavy, nedokonavy, a s tim
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souvisejicimi tvary a vyznamy sloves. Termin vid je v ¢estiné velmi Casto definovan jako
schopnost  slovesa vyjadfit nedokonavost a dokonavost, jinymi slovy 'trvani' a
'ukonceni' d¢je. Z toho vyplyva, ze dokonava slovesa v ¢eském jazyce oznacuji ukoncené
¢innosti (napf. Napsal jsem dopis) nebo Cinnosti, které budou ukonceny (napt. Napisu
dopis).

V uvahu musi byt vzat také fakt, ze pouze nedokonava slovesa maji schopnost
vyjadiit aktualni pfitomnost v ¢eském jazyce. Na rozdil od nedokonavych sloves, dokonava
slovesa nejsou schopna vyjadfit 'skuteCnou' piitomnost, protoze jejich tvary vyjadiuji
budoucnost. (napt. vyrobi, napise). Budouci d& se vyjadiuje u ceského slovesa tfemi
zpusoby: opisnym futurem u sloves nedokonavych (napt. budu veétrat), prézentnim tvarem
u sloves dokonavych (napt. dojdu) nebo pomoci nezdokonavujici predpony po- (pti) u tvaru
prézentu u nékterych sloves pohybu (napt. pojedu, pajdu).

Jak jiz bylo zminéno, ¢eStina disponuje dvéma druhy sloves vyjadiujici vid. Jsou to
slovesa nedokonavé a dokonava. Tvoteni téchto sloves je velmi dilezité, protoze se miize
do jisté miry liSit. To znamend, ze napi. nedokonava slovesa jsou velmi ¢asto neodvozena-
prostd slovesa jako nese, bere, pise. Nicméné vétSina z nich je odvozenych od sloves
dokonavych, bud’ 'prostych ' (napft. fiké-fekne, hazi-hodi) nebo piedponovych (napft. nese-
pfinese).

Navic se vidovy protiklad neuskutecniuje u vSech sloves. Z tohoto diivodu se slovesa
netvofici tento protiklad nazyvaji 'neparova slovesa'. To plati zejména pro modalni a
stavova slovesa napt. moci, chtit a sedet, lezet, spat. Dochdzime tedy k zavéru, ze tyto
slovesa postradaji vidovy protiklad. Na druhou stranu 'parové sloveso' mtze byt definovano
jako pér sloves, kterd jsou odlisna po strance vidové, ale jejich lexikélni (slovni) vyznam
zUstava nezméneén.

V nésledujici ¢asti jsem se zaméfil na teoretické porovnani charakteristik vidu obou
jazyki. DoSel jsem k zavéru, ze pfestoze hlavni pouziti pfitomného ¢asu (present tense) je
umisténi situace v pfitomném Case (present time), termin 'situace' se v anglickém jazyce
vztahuje ke staviim, Cinnostem ¢i procestim (pribéhiim). Napiiklad situace vyjadienad ve

vete "Zemée obiha kolem slunce" je vnimana jako neménici se stav. Cestina v tomto piipadé
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pouziva nedokonavého slovesa obiha. Anglickym ekvivalentem je neprogresivni varianta
slovesa moves (The earth moves round the sun).

Nemén¢ dilezit¢ je uvédomit si, ze progresivni tvary sloves maji v anglickém
jazyce vice specifickych uziti, mame-li na mysli zejména slovesa stavova (napt. vidét).
Progresivni tvar slovesa see ve vété 'T'm seeing my friend on Friday' je typickym piikladem.
Progresivni tvar slovesa v tomto piipadé¢ ma dynamicky vyznam 'potkani'. V hovorové feci
1ze za Cesky ekvivalente povazovat nepravidelné sloveso mam vztahujici se v tomto ptipade
do budoucnosti. Opisné futurum tohoto nedokonavého slovesa 'Budu mit' je mozné
povazovat za gramaticky spravnou alternativu "Budu mit schiizku v patek."

Tyto progresivni tvary sloves anglického jazyka nicméné oznacuji nejen ¢innosti
konané¢ v momentu promluvy, ale také série ¢innosti omezeného trvani. Napiiklad ¢innost
vyjadiend slovesem v progresivnim tvaru eating ve vété "We are eating in the kitchen
during this cold weather" je takto vniména ve smyslu pfechodného planu. Cesky ekvivalent
"Béhem tohoto studeného pocasi jime v kuchyni" naznacuje, Ze CeStina pro tuto situaci
pouziva nedokonavych sloves, v tomto piipadé sloveso jime .

Pro vyjadieni vysledného stavu néjaké Cinnosti, zkuSenosti, 'meustalé' situace
(persistent situation), pokud neni jinak blize urCena kontextem, pouzivd anglictina
perfektnich tvart tvofenych pomoci pomocného slovesa have (napt. have arrived). Dllezité
je si uvédomit, ze tohoto pomocného slovesa se v anglictiné uziva 1 u jinych cast
(predminuly, pfedbudouci) a ne pouze pro ¢as piedpiitomny. Pro ¢eské ekvivalenty jsou
potom piiznacnéadokonava slovesa (napf. piijel).

Progresivni konstrukce jsou typické pro anglitinu stejné tak jako perfektni
konstrukce. Takovym piikladem je napfiklad ¢innost probihajici v momentu promluvy
"He is working" a perfektni konstrukce ve vét€¢ "He has worked." Jak ale ilustruje
nasledujici véta "He has been working," tyto dvé konstrukce mohou byt v anglickém
jazyce kombinovany v riznych ¢asovych rovinach. S touto kombinaci je ale spojena
zména jejich vyznamu. Mame tedy naptiiklad na mysli situaci, kterd zacala v minulosti,
ale stale trva a mozna jesté trvat bude. Odpovidajicim ¢eskym gramatickym prostiedkem je

v tomto ptipad¢ sloveso nedokonavé pracuje-he has been working.
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Tato konstrukce implikuje 'moznou neukoncenost' ¢innosti na rozdil od perfektnich
konstrukci "I've cooked." Ceskym ekvivalentem této situace je sloveso dokonavé (napf.
uvafil jsem). Jak jiz bylo uvedeno, tato perfektni konstrukce vyjadiuje v anglictiné¢ také
vysledny stav. Pro vyjadfeni pfedpfitomného Casu v této souvislosti disponuje ceStina
opisnym tvarem tzv. rezultativem (napt. Mam uvareno-1 have cooked). Tvary rezulativu
jsou troji: rezultativ ptitomny (Méam uvateno-I have cooked), minuly (Mé&l jsem uvateno-I
had cooked) a budouci (Budu mit uvareno-I shall have cooked). Nicméné v tomto piipadé
je vztah k podmétu oslaben, ¢innost totiz mohl vykonat (napt. pro mne) nékdo jiny.

Prosty slovesny tvar je v anglickém jazyce vidové neutralni (napf. drank), tj. jeho
interpretace zalezi na vyznamu slovesa, jakoZ i na dal§im kontextu (napt. We drank beer-
Pili jsme pivo). Ceskym ekvivalentem je sloveso nedokonavé pili na rozdil od dokonavého
slovesa odvozené¢ho piedponou  vy-vypiil. Tento tvar slovesa vyjadiuje dokoncenost
¢innosti (vysledny stav), kterému v anglickém jazyce odpovida také prosty slovesny tvar.
Nicmén¢, Ceska interpretace ¢innosti je jina v disledku jiného kontextu ve kterém se tento
slovesny tvar vyskytuje (napt. He drank a glass of beer). V porovnani s anglictinou,
v ¢estiné dokonavost nebo nedokonavost slovesného tvaru kontextem zmeénit nelze.

Z toho vyplyva, ze v anglictin€ je vidové pfiznakovy pouze prub&hovy tvar (tim, Ze
oznacuje d€j v jeho pribchu), kdezto prosty tvar je vidové neutralni. Podobnost mezi
anglickymi  pribc¢hovymi tvary a <¢eskym nedokonavym videm je  omezena
na vyjadifovani déje v jeho prubéhu. Anglické pribé¢hové tvary se vSak od nedokonavého
vidu 1i8i aktualnosti a doCasnosti. Napt. Petr plave odpovida anglickému Petr is swimming
pouze tehdy, jde-1i o d¢j aktualné probihajici. Ma-li véta obecnou platnost "Petr je plavec",
odpovida ji v angli¢ting Petr swims.

Na zaklad¢ tohoto teoretického porovnani charakteristik slovesného vidu obou
jazyki jsem sestavil test, ktery mél poukazat na jejich povédomi u studenti gymnazii.
Po zpracovani vysledkli jsem doSel k zavéru, ze v priméru bylo vSech 100 respondenti
schopno spravné odpovédet na 60% otazek.

Ptekvapivé velkd cast z nich, 83%, si spravné uvédomila, Ze slovesa smyslového
vnimani (napf. taste-prosty tvar slovesa) vyjadiuje v anglic¢tiné stav, ktery je v ceStiné

vyjadien pomoci nedokonavého slovesa chutna ( It tastes sour-Chutna to kysele). Neméné
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dobte si vedli v otazce souvisejici s perfektnimi tvary sloves vyjadfujici zkuSenost ¢i
vysledny stav, jako napt. ve véte "I've seen the film." Odpovidajici ¢esky ekvivalent je
vyjadien pomoci nedokonavého slovesa videl (Vidél jsem ten film).

Vyjadfeni zvykti v  minulosti nepusobilo respondentim Zzadné potize,
protoze 74% z nich spravné urCilo ndsobeny tvar slovesa pracoval (pracovaval) jako tvar
odpovidajici "polomodalnimu" slovesu used fo. Pomoci tohoto slovesa anglictina také
vyjadiuje zvyky v minulosti a z toho nasledn¢ vyplyva korespondence vét "John used to
work there" a "Honza tam pracovaval."

Na druhou stranu se vyskytly i otdzky ptsobici nepatrné problémy. Mezi né patii
vyjadreni ,,soucasné dulezitosti (current relevance) v angli¢ting. Prekvapivé pouze 54%
respondentl uvedlo za spravnou odpovéd perfektni tvar slovesny, aniz si uvédomili, ze
soucasna dulezitost je ptiznak perfektnich tvart, tiebaze nevyjadiujicich vysledny stav.
"Petr has lived in Prague for ten years" proto naznacuje trvani (pobytu v Praze), které jeste
neskoncilo a bude mozna pokracovat i do budoucnosti.

Uspésnost jejich odpovédi byla také zavisla na kontextu ve kterém se slovesné
tvary, fraze, ¢i konstrukce vyskytovaly. Jiz zminény 'anterior time' (pfedchazejici cas)
mél velky vliv na vniméni ¢asové roviny ve které se ¢innost konala. 62% respondentt si
bylo jisto, Ze Cinnost vyjadfend pomoci dokonavého slovesa odvozeného piedponou na,-
napsal je vniména jako cinnost jiz skoncend. Vedlejsi véta casova (predtim nez jsem Sel
spat) méla napomoci k tomu, aby si respondenti  uvédomili ukoncenost cCinnosti
(psani) pfed zapocetim cCinnosti jiné. Z tohoto divodu ,,Napsal jsem ten dopis nez jsem
Sel spat" je ¢eskym ekvivalentem perfektni slovesné fraze ve vété "I had written a letter
before going to bed."

Cinnost pokradujici i po jejim prerueni jinou ¢innosti je dalsim piikladem, kdy
anglictina pouziva perfektni progresivni slovesné fraze (napt. had been living). 'Anterior
time' (predchézejici Cas) je Cas, ve kterém se tato Cinnost uskutecnila pfedtim nez byla
preruSena. Nicméné jen 45% respondentti si uvédomilo, Ze tato fraze ve vét€ "The family
had been living in the house for years before they noticed the mark on the wall" vyjadiuje

¢innost, ktera pokracovala 1 po jejim preruSenim (vSimnuti si skvrny na zdi).
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Zavérem lze fici, ze zaci splnili moje ofekavani, protoze mnoho z polozenych
otazek se zabyvalo konstrukcemi, které n¢ktefi z nich nemusi mit jesté "zazité" (perfektni ¢i
perfektni progresivni). Nicméné respondenti prokazali vétSi povédomi o progresivnich
konstrukci, protoze zde je alespon castecnd podobnost mezi anglickymi pritbéhovymi tvary
a Ceskym nedokonavym videm. Tato castecnad podobnost se ale tyka pouze vyjadfovani

déje v jeho pribehu.
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Appendix

a) test

Department of English and American studies
University of Pardubice

A diploma paper-test

(by Michal Pauer)

The main aim of this test is to reveal whether or not pupils are capable of
recognising primary features of aspect not only in the English but also in the Czech
language. This means that pupils will be asked to confront aspect in English and Czech as
well. Therefore finding relevant grammatical means in the two languages to express the

same verb actions is in question.

There is one possible answer in each case only. Circle the correct answer

1))

Termin "perfective aspect" oznacuje:
an action viewed as complete

an action viewed as completed

an action viewed as incomplete

an in progress

Termin "progressive aspect" oznacuje:

a happening at a given time

a happening at a given time as well as temporariness
an action viewed as complete

an action viewed as completed

Plati, ze nasledujici véty ; "Joan sings well" and "Joan is singing well" maji:
the same tense but different aspects

the same aspects

different tenses

Ktery z poskytnutych ptikladt oznacuje vysledek diivejsi Cinnosti?
John has arrived.

John arrived.

John was going to arrive.

John used to arrive.

Ktera z nasledujicich vét znaci minuly ¢as se 'soucasnou dulezitosti'?
Petr lived in Prague for ten years.

Petr had lived in Prague for ten years.

Petr has lived in Prague for ten years.

Petr lives in Prague for ten years.
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6) Cinnost vyjadiena slovesem 'learn' v hlavni vété "['ve recently learned that the match is
to be postponed" je vnimana jako:

a) cinnost, kterd zacala v minulosti, ale pokracuje do pfitomnosti

b) cinnost, ktera se udala alespoii jednou v obdobi vedouci do pfitomnosti

¢) cinnost, ktera je v prubchu v dob¢ promluvy

d) cinnost, kterd byla ukonc¢ena v minulosti

7) Obé z nasledujicich vét ; "Water consists of hydrogen and oxygen" and "Two and
three make five" oznacuji:

a) stav v pfitomnosti

b) 'okamzitou' piitomnost

¢) zvyk v pfitomnosti

8) Cinnost vyjadiena slovesem 'try' v hlavni vété "I'm trving to hear what the man is
saying" je vnimana :

a) jako ¢innost probihajici v momentu promluvy

b) jako ¢innost neprobihajici v momentu promluvy

c¢) jako ¢innost dokoncend v momentu promluvy

d) jako Cinnost témét dokoncena

9) "She is slimming" oznacuje:

a) cinnost, ktera je v prubehu pouze v dobé promluvy
b) cinnost, kterd zacala a jesté neskoncila

¢) cinnost, ktera skonci

d) cinnost, kterd je ukoncena

10) "We are eating in the kitchen during this cold weather" oznacuje:
a) cCinnost, ktera je v prubehu pouze v dob¢ promluvy

b) cinnost, kterd zacala a jeSté neskoncila

c) sérii ¢innosti jejichz trvani je ¢asové omezeno

d) postupné se vyvijejici Cinnost

11) "Moral standards are going down" oznacuje:
a) menici se nebo vyvijejici se stav

b) pribéh ¢innosti vnimané jako prechodné

c) prubéh Cinnosti, ktera zanedlouho skonci

d) sérii Cinnosti

12) "He was still working at six o'clock" oznacuje, Ze :

a) cCinnost byla zastavena v 6 hodin

b) cinnost zacala pted 6 hodinou, ale jesté v tuto hodinu pokrac¢ovala
¢) cinnost méla v 6 hodin skon¢it

d) cinnost v 6 hodin skoncila
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13) "He was always asking me about the weather" oznacuje:
a) opakovani ¢innosti v minulosti

b) udalost omezeného trvani v minulosti

¢) zvyk vyjadiujici roz€ileni ze strany mluv¢iho v minulosti
d) probihajici ¢innost v minulosti

14) Ktera z téchto vét oznacuje stav udalosti pfed jinym momentem v minulosti?

a) Ihad been understanding she was dissatisfied for along time before she said anything.
b) Ihad understood that she was dissatisfied for a long time before she said anything.

¢) Tunderstood that she was dissatisfied for a long time before she said anything.

d) I was understanding that she was dissatisfied for a long time before she said anything.

15) Cinnost vyjadiena slovesnou frazi 'had been living' v hlavni vété "The family had been
living in the house for years before they noticed the mark on the wall" je vnimana jako:

a) cinnost, ktera skoncila, kdyz si rodina vSimla té skvrny na zdi

b) Cinnost, ktera pokraovala i po tom, co si rodina v§imla té skvrny na zdi

c) zvyk, ktery skoncil, kdyZ si rodina v§imla té skvrny na zdi

d) stav

16) "Becker podava na Samprasa" je ¢eskym ekvivalentem:
a) "Becker is serving to Sampras."

b) "Becker has been serving to Sampras."

c) "Becker serves to Sampras."

d) "Becker is used to serving to Sampras."

17) "Chutna to kysele" je ¢eskym ekvivalentem:
a) "It is tasting sour."

b) "It is being tasted sour."

c) "It tastes sour."

d) "It has been tasting sour."

18) Prifad'te Cesky ekvivalent k "I'm seeing my girlfriend on Friday":
a) "Vidim moji piitelkyni v patek."

b) "Uvidim moji pfitelkyni v patek."

¢) "Mam schiizku s moji ptitelkyni v patek."

d) "Budu mit schliizku s moji pfitelkyni v patek."

19) "Tento mésic navstévuji hodiny aerobiku" je ceskym ekvivalentem:
a) "I have been attending aerobics classes this month."

b) "I attend aerobics classes this month."

¢) "l am attending aerobics classes this month."

d) "I have attended aerobics classes this month."
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20) "I've seen the film" je anglickym ekvivalentem:
a) "Vidél jsem ten film."

b) "Uvidél jsem ten film."

¢) "Vidaval jsem ten film."

d) "Koukam na ten film."

21) "I've lived there for ten years" je anglickym ekvivalentem:
a) "Ziji tam deset let."

b) "Zil jsem tam deset let."

¢) "Dozil jsem tam deset let."

d) "Pfezil jsem tam deset let."

22) "I'll have checked it by midnight" je anglickym ekvivalentem:
a) "Kontroluji to do pilnoci."

b) "Mam to zkontrolovat do pilnoci."

¢) "Budu to mit zkontrolovéno do ptilnoci."

d) "Zkontroluji to do ptilnoci."

23) "I've been cleaning the windows " je anglickym ekvivalentem:
a) "Myji okna."

b) "Umyl jsem okna."

¢) "Myl jsem okna."

d) "Myval jsem okna."

24) "He has been doing the washing up all this week" je anglickym ekvivalentem:
a) "Myl nadobi cely tento tyden."

b) "Umyl nddobi za cely tyden."

¢) "Umyval nadobi cely tento tyden."

d) "Myje nadobi cely tento tyden."

25) "The eruption of the volcano destroyed the town" je anglickym ekvivalentem:
a) "Vybuch sopky nicil to mésto."

b) "Vybuch sopy ni¢ival to mesto."

¢) "Vybuch sopky znicil to mésto."

d) "Vybuch sopky ponicil to méesto."

26) Anglickym ekvivalentem véty "V patek odjeli do Londyna" je:
a) "They used to leave for London on Friday."

b) "They left for London on Friday."

¢) "They have left for London on Friday."

d) "They were leaving for London on Friday."
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27) "Povidala celou hodinu" je ¢eskym ekvivalentem:
a) "She chatted the whole lesson."

b) "She was chatting the whole lesson."

¢) "She had been chatting the whole lesson."

d) "She used the chat the whole lesson."

28) "Honza tam pracovaval" je ceskym ekvivalentem:
a) "John worked there."

b) "John was working there."

¢) "John used to work there."

d) "John had been working there."

29) "I had written a letter before going to bed" je anglickym ekvivalentem:
a) "Psal jsem dopis predtim nez jsem Sel spat."

b) "Napsal jsem dopis piedtim nez jsem Sel spat."

¢) "Pséval jsem dopis predtim néz jsem Sel spat."

d) "Dopsal jsem dopis pfedtim nez jsem Sel spat."

30) "I had been reading the book for two hours when my mother returned" je anglickym
ekvivalentem:

a) "Citaval jsem tu knihu dv& hodiny kdyZ se moje matka vratila."

b) "Ptecetl jsem tu knihu za dvé hodiny kdyZ se moje matka vratila."

c¢) "Cetl jsem tu knihu dvé& hodiny kdyZ se moje matka vratila.
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